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PART I
GETTING STARTED


CHAPTER 1
INTRODUCTION TO THE LSAT

In this chapter you will learn:

• When to take the LSAT and how to register for the test

• The format of a typical LSAT

• How the LSAT is scored

• The three main types of LSAT questions

• Why it makes sense to guess if you cannot answer a question

• How to use this book to make the most of your study program

LSAT Basics

The Law School Admission Test (LSAT) is required for admission by more than 200 law schools in the United States and Canada that are members of the Law School Admission Council (LSAC). Many law schools that are not LSAC members also require applicants to take the LSAT.

According to the LSAC, the LSAT is designed to measure certain skills that are considered vital to success in law school. These include the ability to read and understand complicated text passages, to draw reasonable inferences and conclusions from them, to think critically, and to evaluate logical arguments.

When the LSAT Is Given. The LSAC administers the LSAT four times each year at designated test centers in the United States and Canada and throughout the world. The four test dates are typically on Saturdays in February, June, October, and December. Many law schools require that you take the LSAT by December if you are applying for admission the following fall. However, applicants are often advised to take the test earlier than December, that is, in October or even June of the year before they expect to begin law school.

How to Register. You can register for the LSAT by mail, by telephone, or online. A registration fee is charged. Regular registration takes place until approximately 30 days before the test date. Late registration is allowed until about three weeks before the test date, but a higher fee is charged. You cannot register for the test on the day it is given.

To register, contact the Law School Admission Council at the following address:

Law School Admission Council

662 Penn Street

Box 2000

Newtown, PA 18940-0998

Tel. (215) 968-1001 (service representatives are available on weekdays only)

For online registration: www.LSAC.org

Registration forms are included in the LSAT and LSDAS Registration/Information Book, a booklet that is usually available in college and university guidance offices or by mail from the LSAC. If you are registering by mail, fill out the forms in the booklet and mail them in the enclosed, preaddressed return envelope. Faxed registration forms are not accepted.

When you register, you will have the opportunity to select a first-choice and second-choice test center located near you. If both centers you select are full or unavailable, the LSAC will assign you to another center located as near to you as possible.

Alternative Testing Arrangements. If you observe Saturday Sabbaths, you may take the LSAT on the Monday following the regular Saturday testing date. To do so, you must submit to the LSAC a letter from your rabbi or minister on official stationery confirming your religious affiliation.

Special testing accommodations are also available for test takers with documented disabilities. To request these arrangements, obtain an accommodations request packet by contacting the LSAC either by mail or online. The LSAC urges test takers who wish to request special testing accommodations to do so well in advance of the registration deadline.

Obtaining Your Score. If you have an online account with the LSAC, you will receive your LSAT score by email in about three weeks after taking the test. There is no charge for doing so, and this is the fastest way to obtain your score. You can also obtain your score by telephoning TelScore at (215) 968–1200 approximately three weeks after taking the test. You will be asked to pay a $10 fee by credit card. Approximately four weeks after each test, the LSAC mails score reports to test takers. If you have an online LSAC account, you will be charged a $25 fee for hardcopy mailings of the score information available to you online.

Taking the Test More Than Once. You may take the LSAT up to three times within any two-year period. However, the LSAC advises test takers to take the test again only if they believe that their first test score was negatively affected by a circumstance such as anxiety or illness. For most test takers, taking the test again does not result in a substantially different score, and test takers should keep in mind that their second or third score might actually be lower than their first. If you do take the test more than once, your score report will show all your scores. In addition, an average score is calculated and reported.

Reporting Scores to Law Schools. Nearly all American Bar Association–approved law schools require test takers to make use of the Law School Data Assembly Service (LSDAS), a service provided by the LSAC. To take advantage of this service, you must provide the LSDAS with school transcripts and letters of recommendation. The LSDAS combines that information with LSAT scores and copies of your writing sample and creates a complete report that is provided to every law school to which you apply.

What’s on the LSAT

The LSAT is one of the most demanding standardized tests in existence. It tests your ability to answer questions that involve difficult logical transitions, syllogisms, and inductive reasoning—and to answer them quickly. The funny thing is that if given enough time, most people would be able to work through the questions and get most of them right. However, the LSAT gives you nowhere near enough time to do this. Instead, you are forced to operate under severe time pressure. Most test sections have between 24 and 27 questions that you are required to answer in a 35-minute time span. This is an average of about 1 minute 25 seconds per question. This is not a lot of time, and it is not surprising that most people do not finish many sections of the test. One main purpose of this book is to teach you how to answer LSAT problems quickly and accurately despite their difficulty.

Format of the Test. The LSAT includes five sections of multiple-choice questions. Of these, only four are scored: two Logical Reasoning sections, one Logic Games section, and one Reading Comprehension section. There will also be a fifth section, which is experimental. You are not told which section this one will be, but it can be any of one of the three question types and it will not count toward your score. The experimental section is used only to test questions for future versions of the test.

Another part of the test that is not scored is the writing sample. In this test section, you have 30 minutes in which to write a short essay based on a given scenario. The writing sample is given at the very end of the LSAT, after you have completed all the other sections. It does not contribute to your LSAT score, but it is sometimes read by the admission committees at the schools to which you apply. The writing sample gives committee members an idea of how well you write and take sides in an argument.

The following chart summarizes the format of a typical LSAT.

Typical LSAT Format

[image: Image]

*Graded sections only.

Note: All sections except the Writing Sample may appear in any order. An ungraded experimental section is also included in each test form.

LSAT Scores

There are typically about 101 questions that are graded on the LSAT. There are usually about 50 in the two Logical Reasoning sections, 23 in the Logic Games section, and 26 in the Reading Comprehension section. If you add up the total number that you get correct on these sections, you will have your raw score. No points are deducted for wrong answers, and all questions count the same.

Some LSATs are easier than others, and some are more difficult. To account for this variation, a statistical procedure is used to convert your raw score to a scaled score. Scaled scores range from 120 to 180.

LSAT scores also include a percentile rank. This rank indicates the percentage of test takers who scored below your reported test score.

LSAT Question Types

The three types of multiple-choice questions on the LSAT are logic games, logical reasoning, and reading comprehension.

Logic Games. The Logic Games section of the LSAT consists of a series of “games,” each of which specifies certain relationships among a group of variables. The questions ask you to deduce additional relationships based on the given facts. Generally, math majors and others who are good at analytical reasoning do well on this section.

Here is a sample of a logic game:


	Anna, Bill, Claire, Dale, Emily, and Fanny are flying in an airplane. They sit in six seats that are aligned in two columns of three:


	1 2


	3 4


	5 6


	Their seating order is determined by the following constraints:


	Anna sits in a lower-numbered seat than Bill.


	Claire sits immediately behind Fanny.


	Dale does not sit in the same row as Fanny or Emily.


	Bill sits in the same column as Emily.




Following this setup there will be five to eight questions, each of which will ask you to make a logical deduction based on the information and the rules (“constraints”) of the game. Here is a typical question:


	1. If Dale sits in seat 2, then which of the following must not be true?


	(A) Fanny sits in seat 1.


	(B) Anna does not sit in seat 3.


	(C) Claire sits in seat 5.


	(D) Bill sits in seat 4.


	(E) Emily sits in seat 6.


	Correct answer: A.




Test takers who prepare carefully for the Logic Games section can significantly improve their scores. Certain diagramming techniques and ways of setting up the games can greatly increase both speed and accuracy in this test section. Chapter 3 of this book will provide examples and solution techniques for the following five types of LSAT logic games:

1. Formal Logic

2. Sequencing

3. Linear and Complex Linear

4. Grouping

5. Mapping

Logical Reasoning. In the Logical Reasoning sections of the LSAT, each question starts with a short passage (the “squib”) that discusses a given issue or presents a particular argument. The question then asks you something about the reasoning behind the issue or the argument. Here is a sample logical reasoning question:


	Forest Ranger: Bigfoot is an abominable creature that is larger than any bear and certainly larger than any human being. We are pleased to announce that Bigfoot was spotted yesterday in the park’s canyon near the waterfall. Several campers were out eating their lunch on a picnic table near the top of the waterfall when they heard growling and strange noises coming from the base of the waterfall. They looked over the edge to the base of the waterfall and saw a big hairy mammal jump into the pool of water about 200 yards away. The campers screamed in surprise and the creature looked up, shook itself dry, and then ran off into the wilderness.


	Which of the following, if true, would undermine the forest ranger’s contention that the creature spotted was Bigfoot?


	(A) Bigfoot likes bathing in waterfall pools.


	(B) A camper did not have her glasses with her when looking down to the bottom of the falls.


	(C) Bigfoot roams through northern parklands only during the winter months.


	(D) No hairy mammals were present in the park yesterday besides bears and humans.


	(E) Bigfoot is scared of people, especially when he is spotted and they scream at him.


	Correct answer: D.




To answer logical reasoning questions correctly, you need to have good critical reading skills and you must be attentive to details. Sometimes small issues present in a long squib can be pivotally important when test takers are deciding between answer choices. Remembering and being able to understand such details is the key to successfully answering logical reasoning questions. Chapter 4 of this book will provide examples and solutions for the following seven types of LSAT logical reasoning questions:

1. Conclusion

2. “Resolve”

3. “Strengthen”

4. “Weaken”

5. Reasoning strategy

6. Analogous reasoning

7. Controversy

For each of these seven question types, there are different things to watch for in the squib and different solution strategies. That is why you need to study each type carefully and to practice with sample questions. All that study takes time, but the payoff is higher scores on two of the four graded LSAT sections—fully half of your total LSAT score!

Reading Comprehension. The Reading Comprehension section contains questions of a type that you have most likely seen before on other standardized tests. The SAT has reading comprehension questions, and those on the LSAT are similar in form. A 400- to 500-word passage is presented and followed by six to eight questions that ask about the passage.

Here is an example of part of a reading comprehension passage and a question based on its content:


	As a personification of England, John Bull became a popular caricature during the nineteenth century. John Bull originated as a character in John Arbuthnot’s The History of John Bull (1712). He became widely known from cartoons by Sir John Tenniel published in the British humor magazine Punch during the middle and late nineteenth century. In those cartoons, he was portrayed as an honest, solid, farmer figure, often in a Union Jack waistcoat, and accompanied by a bulldog. He became so familiar that his name frequently appeared in books, plays, periodical titles, and as a brand name or trademark. Although frequently used through World War II, since the 1950s John Bull has been seen less often.


	1. Which of the following best expresses the main idea of the first paragraph?


	(A) Uncle Sam, the personification of America, is used in the same way that John Bull is used in England.


	(B) John Bull is a figure that emerged as a character in a cartoon in a British humor magazine called Punch.


	(C) John Bull, a personification of England, was popular during the nineteenth century but has appeared less often since the 1950s.


	(D) John Bull was a farmer figure who wore a Union Jack waistcoat and was commonly accompanied by a bulldog.


	(E) The English people were big fans of John Bull and strongly identified with him as a national figure.


	Correct answer: C.




To answer reading comprehension questions correctly, you must pay careful attention to details when you read the passages. Chapter 5 of this book will provide examples and solutions for the following six types of LSAT reading comprehension questions:

1. Main point

2. Author’s/character’s opinion

3. Claims

4. Syntax

5. Inference

6. Support/undermine

You’ll learn all about each question type and what to look for when answering questions of each type. You’ll also learn techniques to help you retain more information when you read the lengthy reading passages. These techniques can give you the edge you need to succeed in the Reading Comprehension section.

General Strategies

There are several general strategies that you should follow on the LSAT to maximize your score.

1. Pace Yourself. Pay attention to the passing of time during the test so that you know whether you need to work faster. Consider bringing an analog watch so you can keep track of the time. If you decide to do so, practice with the watch so that you are used to pacing yourself.

During the test, if you come to a particularly difficult or time-consuming question, mark it and move on. You can always return to it if you have time at the end. Don’t let one question drag you down.

2. Read Critically. Keep this tip in mind at all times. If you are able to train yourself to read critically and to pay attention to the important points, then you will have an advantage over other test takers.

Also, if you read critically, you will be less likely to make careless errors. The test writers love to use words like not, except, only if, and but that you might overlook if you aren’t reading carefully, but that can change the entire meaning of a sentence. If you miss one of these words because you aren’t reading critically, chances are you’ll pick the wrong answer.

3. Cross Out Obviously Wrong Answers. Once you have practiced with many sample LSAT questions, you should be able to look at each actual test question and recognize obviously wrong answers. On a typical question, as many as three answers may be obviously wrong. Take a moment to cross out those answers. Then you can focus on the remaining choices, one of which is the correct answer. In addition, if you are forced to guess, then narrowing down the choices will improve your chances of picking the correct answer.

4. Answer Every Question. The LSAT has no penalty for guessing, so mark an answer to every question even if you have no idea what the correct answer is. If you are able to eliminate a couple of choices before guessing, then all the better—you’ll be that much more likely to pick the right answer. It is never in your best interest to leave a question blank. As you work on your pacing, make sure you leave time at the end to answer any questions that you have not worked.

5. Diagram Whenever Possible. The diagramming tools that you will learn in this book for logic games, scholarly reading, and certain logical reasoning questions set you apart from your competition. Don’t forget to use these tools on the day of the test! Use them as often as you can so that you will derive the maximum benefit from them.

How to Use This Book

The LSAT is a very difficult test, and your preparation time may be limited. That is why it is important to use your study time wisely. This book provides a comprehensive review of everything you need to know for the test, and it has been organized to make your study program practical and efficient. It will help you

• familiarize yourself with the test format and test question types

• learn the logic tools and diagramming tools you’ll need to score high

• develop solution strategies by reviewing samples of every question type with step-by-step solutions

• practice your test-taking skills using sample LSATs

The following four-step study program has been designed to help you make the best use of this book.

STEP 1: TAKE THE DIAGNOSTIC TEST

Once you have read through this chapter, start your preparation program by taking the Diagnostic Test. This test is carefully modeled on the real LSAT in terms of format, types of questions, and topics tested. Take the Diagnostic Test under test conditions and pay careful attention to the time limits for each section. When you complete the test, score yourself using the scoring information at the end of the test. Then read through the explanations to see which question types gave you the most trouble. Look for patterns. Did you miss particular types of questions? Did specific question formats give you trouble? When did you need to guess at the answer? Use your results to identify the question types that were most difficult for you. Once you know your strengths and weaknesses, you’ll know which question types you need to focus on as you review for the test.

STEP 2: STUDY THE LSAT QUESTION TYPES

Chapters 3, 4, and 5 of this book provide an in-depth look at each of the multiple-choice question types on the LSAT. Within each type, the questions can be divided into specific categories. You’ll learn the characteristics of each category, how to recognize each one, and how to use this knowledge to your advantage. Each category is illustrated by numerous examples, and detailed, step-by-step solutions are provided. For each category, you’ll see typical question setups, typical questioning words and phrases, and the kinds of correct answer choices, incorrect-but-plausible “second-best” choices, and obviously wrong answers that you’ll encounter on the actual LSAT. The more you know about each question category and the more examples you study, the more confident you’ll feel and the better you’re likely to do on test day.

Chapter 6 of this book focuses on the Writing Sample, an essay-writing exercise that is part of the LSAT but which is not scored. In this section of the book you’ll find out what the test writers are looking for, you’ll learn valuable essay-writing tips, and you’ll see a sample of a typical high-scoring writing sample.

You do not need to work through these chapters in the order in which they appear. Skip around if you like, but remember to focus on the question types that gave you the most trouble on the Diagnostic Test.

Make a study schedule. Take the time to work through Chapters 3 through 5 at your own pace, studying all the examples and explanations to make sure that you understand them thoroughly. If you have the time, after you have finished reading each chapter, go back and rework a selection of sample questions to make sure that you mastered each solution strategy. Be sure to set aside enough time at the end of your schedule to take the practice tests at the end of the book. However, if you do not have much time before the test, you may want to shorten your review time and focus instead entirely on the practice tests.

STEP 3: LEARN STRATEGIES FOR
ANSWERING EACH QUESTION TYPE

As you work through Chapters 3, 4, and 5, you’ll learn proven strategies for answering each LSAT question type. The examples will show you exactly how to use each strategy to reason your way to the correct answer. You’ll learn how to use

• simple diagramming techniques that make it easy to solve the LSAT’s complex logic games

• time-tested logic tools that will give you the ability to answer the toughest logical reasoning questions

• scholarly reading techniques that will help you organize and remember the information you need to answer LSAT reading comprehension questions

STEP 4: TAKE THE PRACTICE TESTS

Once you have worked through Chapters 3 through 6, get ready for the real exam by taking the practice tests at the back of this book. When you take each test, try to simulate actual test conditions. Sit in a quiet room, time yourself, and try to work your way through the entire test without interruption. The tests are ideal for practice because they have been constructed to be as much like the real test as possible. The directions and practice questions are very much like those on the real test. You’ll gain experience with the LSAT format, and you’ll learn to pace yourself so that you can earn the maximum number of points in the time allowed.

Explanations for all questions can be found at the end of each test. If you get a question wrong, you’ll want to review the explanation carefully. You may also want to go back to the section in the earlier chapters that covers that particular question category.

At the end of each test you’ll also find scoring information. Calculate your raw score, then use the table provided to find your approximate scaled score. The scaling on the real test may be slightly different, but you’ll get a good idea of how you might score on the actual test.

The Curvebreakers Method

This LSAT guide is based on the test-preparation techniques developed by Curvebreakers, a group of current and former students at Harvard Law School, each of whom scored in the 99th percentile or better on the LSAT. By using this guide, you will benefit from the numerous advantages that the Curvebreakers techniques have over those used in other test-preparation courses.

Most other LSAT guides and courses offer mainly generic test-taking advice applicable to broad categories of LSAT questions. In truth, however, each of these broad categories actually includes a variety of different question types, each with its own individual characteristics and pitfalls. The Curvebreakers techniques focus on each of these specific types in turn, analyzing each one in depth and giving you targeted problem-solving strategies and/or diagramming tools for that specific question type. You also get intensive practice with each question type, so you can familiarize yourself with the kinds of tricks specific to that type. By working your way through the following pages, you’ll master each and every LSAT question type, you’ll quickly improve your test-taking skills, and you’ll raise your LSAT score on test day.

Curvebreakers Recommendations

1. WORK HARD

The LSAT is a test that can be mastered if you are dedicated to improving yourself and getting a good score. Passively reading through lessons is not going to do much good. Instead, be sure to work through the problems in this book when you are wide awake and can give them full attention. If you do this consistently, your score will progressively improve. It is that simple.

2. MAKE A STUDY PLAN

You should make an LSAT study plan that you can stick to. For example, it is a good idea to take a practice test each weekend on Saturday morning in order to simulate actual LSAT testing conditions. You should also map out consistent times each week when you will be able to work through at least part of each lesson.

3. READ CRITICALLY

On the LSAT, the test writers often bury important points beneath piles of meaningless words and irrelevant sentences. Almost every question contains a pitfall that is intentionally designed to trap unwary test takers. To prevent those pitfalls from trapping you, train yourself to read critically. Practice this kind of reading every time you sit down to study for the LSAT.

4. IDENTIFY YOUR WEAKNESSES

After you take each of the sample tests in this book, make sure to go back and study the questions that you got wrong. If you have the version of this guide that includes sample tests on CD, use the CD to analyze the question types that you commonly miss. These simple steps can make all the difference in your LSAT preparation program. They will enable you to identify your weaknesses and focus your study so that you will not make the same mistakes in the future.

5. DO NOT WORRY ABOUT TIME!

Take your time as you work through the lessons in this book. Focus on learning the characteristics of the different question types instead of worrying about how quickly or how slowly you are answering the questions. You can work on improving your test-taking speed when you take the practice tests at the back of this book.

LSDAS

Many of these records will be coordinated through the Law School Data Assembly Service (LSDAS). LSDAS will prepare a package for you consisting of your undergraduate transcripts, a summary of your undergraduate academics, your LSAT score and writing sample, and your letters of recommendation. LSDAS does not request transcripts from your undergraduate schools or request letters of recommendation; they merely receive and collate the data. The purpose of this service is to standardize applications so that it will be easier for law schools to evaluate candidates. The service is required by nearly all ABA-accredited law schools in the United States, and there is a fee for the service. As of Spring 2009, the fee was $117. Consult www.lsac.org for current fee information and to register.

Law School Admissions

To get into law school, you need more than just a great LSAT score. There are three basic factors that make up your admissions package:

 

• Admissions Index

• Letters of Recommendation

• Personal Statement

1. ADMISSIONS INDEX

Your admissions index is a number that consists of your undergraduate grade-point average and your LSAT score. The LSAT score is nearly always given more weight. This number may vary from school to school. By working through this book, you are positioning yourself to achieve the very best LSAT score you can. It is probably too late to change your undergraduate GPA, so all you can do there is request transcripts from every undergraduate institution you attended.

2. LETTERS OF RECOMMENDATION

You should request letters of recommendation from a minimum of four people. Whom should you choose? Law school admission officers are looking for assurance that you will be able to thrive in the high-pressure academic world of law school. Therefore, most people submit letters from college professors. If at all possible, choose professors who will remember your name and who will attest to your eager, hardworking character. Choose at least one from your major field of study, and only choose professors in whose courses you did well.

3. PERSONAL STATEMENT

Almost all law school applications require you to answer questions about your background and experiences and why you want to attend law school. These are probably the most important questions on the applications, and they are the only thing you can truly, totally control. After you write them, be sure to proofread them for errors. Use the spell-check and grammar-check features on your word-processing program. Then have a couple of other people read them to catch anything you may have missed. Update your résumé or create one if you don’t already have one.

ADMISSIONS TIMELINE

Following is the order of activities most people follow when applying for law school. You should give yourself between 12 and 18 months from beginning this process to the start of school. It can be done in less time, but it is not easy to do so and will cause you unnecessary stress during an already stressful process. Begin as early as possible!

 

1. Prepare for the LSAT.

2. Decide which law schools you wish to apply to, and find out their admission deadlines.

3. Register for the LSAT and LSDAS.

4. Contact your undergraduate schools and have copies of your official transcripts sent to LSAC to be included in your LSDAS package.

5. Contact the people you wish to receive letters of recommendation from and request those letters. Writers may send them to LSAC to be included in your LSDAS package.

6. Take the LSAT and view your score report.

7. View your Master Law School Report from LSAC and make sure all parts are there and are correct.

8. Apply to your chosen schools. U.S. law schools will accept electronic applications that you can complete at www.lsac.org.

9. Order LSAC reports online if you are applying to a U.S. school.

10. Make sure your transmissions went through, and keep an eye on the status of your filings.


CHAPTER 2
DIAGNOSTIC TEST

In this chapter you will:

 

• Take a full-length sample LSAT under actual test conditions

• Practice with every type of LSAT question

• Read explanations for every question

• Review your results to identify your strengths and weaknesses

• Develop a personal study plan

The following test has been carefully modeled on the actual LSAT in terms of number of questions, types of questions, and degree of difficulty. You can use it to identify your strengths and weaknesses as you begin your LSAT preparation program.

The chart shown below summarizes the organization of this Diagnostic Test.

When you take this Diagnostic Test, try to simulate actual test conditions. Find a quiet place where you will not be disturbed. Set aside enough time so that you can complete the entire test without being interrupted.

Follow the time limits for each test section. Use the Answer Sheet to record your answers.

When you are finished, check your answers against the Answer Key located at the end of the test. Then follow the instructions to calculate your score. Review the answers and explanations that follow, especially for those questions you missed. Use your results to plan your LSAT preparation program. A suggested study plan is provided to help you make the best use of the materials in this book.

Diagnostic Test

[image: Image]

ANSWER SHEET


	Directions for Test


	• Before beginning the test, photocopy this Answer Sheet or remove it from the book. Mark your answer to each question in the space provided. If a section has fewer questions than answer spaces, leave the extra spaces blank.


	• Note: If you have purchased the book-CD version of McGraw-Hill’s LSAT, you may enter your answers directly on your computer rather than on this Answer Sheet. The CD program will automatically calculate your score, provide explanations for every question, and show you which question types were easiest for you and which ones were most difficult.
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SECTION 1
Time–35 minutes
25 questions

Directions: The questions in this section are based on brief statements or passages. Choose your answers based on the reasoning in each passage. Do not make assumptions that are not supported by the passage or by common sense. For some questions, more than one answer choice may be possible, so choose the best answer to each question—that is, the one that is most accurate and complete. After you have chosen your answer, mark the corresponding space on the Answer Sheet.

Questions 1–2 are based on the following passage:

Advertising Executive: One in every six Americans chews gum on a daily basis. Out of this number, seven out of ten choose chewing gum, two out of ten choose bubble gum, and one out of ten states no preference. Our client’s share of the market will be most increased, therefore, if we focus our television advertising campaign on our client’s chewing gum product rather than its bubble gum.

1. Which of the following most accurately expresses the conclusion of the advertising executive’s argument?

(A) Any advertising campaign should focus on the needs of the largest section of the purchasing population.

(B) Focusing the advertising campaign on bubble gum could increase the proportion of people who choose bubble gum.

(C) The client’s market share would be most increased by ignoring bubble gum and advertising chewing gum exclusively.

(D) Increasing the client’s market share is the most important goal of the advertising campaign.

(E) Focusing the advertising campaign on bubble gum would be less effective than focusing it on chewing gum.

2. Which of the following, if true, most seriously weakens the executive’s argument?

(A) Nine out of ten chewing gum chewers claim not to be affected by the advertising of brand rivals.

(B) Bubble gum chewers do not watch television.

(C) Fewer Americans chew gum now than 20 years ago.

(D) Chewing gum chewers do not watch television.

(E) Most people already prefer his client’s chewing gum to its bubble gum.

3. Beleaguered author: The future of publishing is cloudy at best, as it seems that no one cares to read books these days. Instead, everyone has turned to digital media and schlock entertainment for the instant gratification they are no longer taught to find in a book. There is even talk of the book industry itself becoming digital, with people turning to their computers and the Internet when they choose to read, instead of picking up a real, printed volume. How much of the aesthetic of the experience, indeed, the journey we know as a book, will be lost when this change is fully complete?

Which of the following can be inferred from the beleaguered author’s statements?

(A) Online books will soon be the only kind people read.

(B) People are less intelligent than they used to be, since they seek instant gratification instead of deeper satisfaction.

(C) People were once taught to find instant gratification in reading a book, but this is no longer the case.

(D) People no longer care about aesthetics.

(E) The publishing industry prefers digital books to printed ones.

4. Naturalist: I have examined all alternative interpretations and have concluded that baby whales form bonds with their mothers solely by following the mother throughout the ocean. My reasoning is based on the fact that baby whales do not form any noticeable bond with their fathers. Implicit in this realization is that baby whales do not follow their fathers throughout the ocean.

Oceanologist: You omit the fact that baby whales are fed by their mothers and not by their fathers. Milk is a product of the mother. I think it’s evident that even if a baby whale were to follow its father throughout the ocean, the baby would still form a stronger bond with its food provider, the mother.

The naturalist and the oceanologist are committed to disagreeing about which of the following?

(A) The naturalist does not have the requisite credentials to make claims about whales that refute those of the oceanologist.

(B) A baby whale would follow its mother throughout the ocean even if she did not provide milk.

(C) Bonds would not be formed if the baby whale did not follow the mother in the ocean.

(D) The naturalist underplays the role of milk in the whale bonding process.

(E) There are alternatives to the theory that milk is responsible for the bond.

5. A happy household is one in which all members of the family dine together at least four nights out of the week. In order for a family to dine together on such a regular basis, one of two conditions must exist: The family members must not have busy schedules, or they must each be willing to make an effort to sacrifice time for one another. No one without a busy schedule is truly happy, since human beings must work in order to be happy. And a household may not be happy if any of its members is not happy.

If the information above is accepted as true, which of the following must be true of a household in order for it to be happy?

(A) The family members must not be happy individually.

(B) The family members must not be busy.

(C) The family members must take pride in their work.

(D) The family members must sacrifice time for one another.

(E) The family members must communicate regularly.

6. Painters who create works of great artistic merit are often more highly valued by other artists than by the rest of the population. This is because members of the population who are not artists are often unable to appreciate the artistic merits of great paintings when compared to other paintings. For this reason, artistically great paintings often sell for less money than paintings with larger mass appeal. Therefore, if I wanted to collect a room full of paintings of great artistic merit, it would probably be less expensive than if I wanted to collect works with higher mass appeal.

Which of the following, if true, would resolve the discrepancy between cost and artistic merit noted above?

(A) Works of great artistic merit are often not works with great mass appeal.

(B) Artists are inclined to spend large amounts of money on works that they like.

(C) People who appreciate works of mass appeal tend to also appreciate works of great artistic merit.

(D) Paintings done by great artists are often not offered up for sale to members of the general public.

(E) Paintings that sell for very little money often do not have mass appeal or artistic merit.

7. Presidential addresses are often pivotal moments in a nation’s history. These are the points when the country’s chief executive elucidates his or her plans to help the nation progress, heal its problems, and become more unified. Strangely, the same is not true of the addresses of important senators. Even though the addresses of these senators illuminate their plans to help the nation, these addresses are almost never pivotal moments in the nation’s history because the plans of the senators are much less likely to come to fruition than are the plans of the president.

Which of the following, if true, would tend to strengthen the argument?

(A) Presidents are often more eloquent than senators and evoke a more emotional response from their audience than senators.

(B) Presidents’ plans are ratified 95% of the time, whereas important senators’ propositions are ratified only 4% of the time.

(C) It is counterintuitive to believe that plans of some people are not actualized but plans of other people are.

(D) Presidential addresses are not always pivotal moments but they are always historically noteworthy, whereas senators’ addresses are sometimes ignored by the public.

(E) Competition between presidents and senators often causes presidential proposals to be rejected.

8. People who walk along downtown streets late at night run the risk of being robbed. Several factors are at play here. First, people who walk along streets at night are more likely to be walking alone. And people who are walking alone are more likely to be robbed. Second, given the opportunity, robbers are more likely to rob someone at night. Third, downtown streets are higher-crime areas than other streets in the city. Based on these factors, it is apparent that someone who is walking along downtown streets at night is more likely to be robbed than someone concurrently walking anywhere else in the city.

Which of the following, if true, would most support the conclusion?

(A) In all areas of cities except downtown, people are robbed only during daylight hours.

(B) Robbers are more likely to rob people in downtown areas than they are in suburban areas.

(C) People walking along a downtown street at night tend to have more money than people walking elsewhere.

(D) There are more burglars downtown than there are in several other parts of the cities.

(E) Buses at night carry burglars from outer regions of the city into the downtown area.

9. Governments that subsist by fostering cultures of fear in the population have a tighter control over their citizens. These governments’ laws are more strictly adhered to, governmental officers are given more deference by the people, and the president is viewed more as a monarch than a person of the people. Elections are not held in these tightly controlled societies, and presidents perpetually stay in office. But the average number of years that presidents are in office is less than the average number of years that monarchs rule in monarchical societies.

Which of the following resolves the discrepancy noted above?

(A) Presidents of tightly controlled societies are sometimes overthrown.

(B) Monarchical societies do not give monarchs the same type of deference that other societies give to their presidents.

(C) Presidents of tightly controlled societies tend to be less popular than monarchs, and they are often voted out of office.

(D) Monarchs come to power at a much younger age than presidents.

(E) Elections are held in monarchical societies.

10. I. Houses that have dogs get fleas.

II. People who live in houses with fleas get fleas themselves.

III. If a person does not live with fleas, then he or she does not have a cat.

Which of the following makes it logical to claim that Bill has fleas?

(A) Bill has a cat.

(B) Bill has a dog.

(C) Bill lives in an apartment with fleas.

(D) Bill does not have fleas himself.

(E) Bill’s brother, who lives in a house, has fleas.

11. Mount Kilaboo will more than likely erupt this year. The fact is that it has erupted every year of the past three and every decade of the past eight. This increase in volcanic activity means that the pressure within the mountain is growing and will soon result in a monumental eruption the likes of which Mount Kilaboo has never produced before. If this occurs, then the villages that are located within 100 feet of where the lava flow reached last year will have to be evacuated before the lava pours over the village.

Which of the following is assumed by the argument?

(A) Mount Kilaboo will cause a village evacuation this year.

(B) If a monumental eruption occurs, lava will extend at least 100 feet farther than it did last year.

(C) Mount Kilaboo’s imminent monumental eruption will be larger than any previously recorded in the world.

(D) Pressure within a volcanic mountain will increase until the entire mountain explodes.

(E) Increased volcanic activity increases the chance that lava flow will not occur.

12. Realtor: A great place to invest is not in the stock market; it is in Marlagos beachfront property! Past history has shown that in 10 years the beachfront properties here on Marlagos Island have quadrupled in value. What a great investment it would have been to buy these properties 10 years ago. I certainly wish I had! There is nothing to suggest that this trend of price increase will not continue for long into the future, so all people with the funds should buy, buy, buy!

Which of the following, if true, would tend to support the argument of the realtor?

(A) The amount of tourism on the island will increase by 30 times in the next 10 years.

(B) The stock market has been very flimsy lately when compared to the bond market.

(C) People who buy beachfront property on the island will never lose all their money.

(D) Property investments in general yield lower returns than stock market investments.

(E) There are no studies showing that buying land is a worse investment than buying stocks.

13. Aliens have visited this world. They invaded Area 51, and they have picked up many people from farms and homes throughout the region and taken them onto their ships in order to study them. Of course the aliens have not officially announced their presence. What good would this do them? If they are going to invade, they would not want to alert us to this fact so that we could prepare. And if they just wanted to study humans, then they would not want to announce their presence because then we would change our behavior and ruin their observations.

Which of the following is assumed by the passage?

(A) Aliens have not been technologically able to visit all regions of the Earth.

(B) Aliens have invaded worlds before ours and might invade ours.

(C) Humans would benefit if the aliens announced their presence to us.

(D) It is possible for aliens to get important information about humans through their study of us.

(E) Aliens visiting the Earth would be interested only in invading it or studying humans.

14. Exceptional football stars exit college and then enter the professional leagues with the desire to make money and also to bring about some good in the world through their stardom. If Kevin Kennedy played football, he would be this “exceptional” type of player because he entered college with the desire to bring about good.

Which of the following, if true, would undermine the conclusion of the passage?

(A) It has been well documented that Kevin Kennedy plays the European version of football, known as soccer.

(B) Football stars who truly realize their potential never have the goal of making money through their fame.

(C) People who enter college with the desire to bring about good in the world leave without that desire.

(D) People who play professional football are almost never able to bring about any real good in the world.

(E) Football stars become exceptional only after they have played football for a minimum of five years.

15. Grass has to be mowed every week during the summer but only about once every month during the winter. This is because during the summer the days are longer and the light from the sun is more intense. Both these factors combine to allow grass to glean more energy from the summer sunlight that reaches its leaves. Plants in general react the same way as grass does during the summer—they grow longer faster for the same reasons that grass does. People just do not realize this because, unlike growing grass that needs to be mowed, the growth spurts of other plants do not require reciprocal actions.

Which of the following is assumed by the argument?

(A) Juniper bushes do not need extra pruning during the summer months.

(B) Grass grows faster in the spring than in the winter.

(C) Increases in light always lead to increases in plant growth.

(D) Mowing is a task that is not completely necessary during the winter when grass does not grow.

(E) If there were no extra hours of sunlight during the summer, plants would still grow faster because of the sun’s extra intensity.

16. Photographers are condemned to living life vicariously through black and white, color-coded, and panoramic still frames. Instead of enjoying special moments while and when they occur, photographers try to capture these moments. But by the effort of concentrating their sight through a small circular peephole, photographers irrevocably lose sight of the captured moment and leave themselves with no redress but the infinite opportunity to bask in a small photographic eclipse of the full moment that once occurred in a brilliant and broad range of living motion. Is an infinite ability to regard the zenith of a special moment worth more than a transitory opportunity to regard the whole timeframe in its vast living glory?

Which of the following, if true, would undermine the argument’s contention that photographers lose moments when they capture them?

(A) Photographers do not decide whether they will capture or observe a moment until right before it occurs.

(B) Photographers gain greatly from captured moments, because not only do they record those moments but they are also paid for capturing them.

(C) People often do not take the opportunity to observe the full beauty of an instantaneous moment in the way that photographers do.

(D) Photographers are able to enjoy the full benefits and character of an occurring moment through the lens of their camera.

(E) When viewed through photographs, certain types of moments appear to be better than they actually were.

17. My science book says that when liquid A and liquid B are mixed, liquid C is formed. When more liquid A than B is mixed, liquid C will have yellow color. When more liquid B than A is mixed, liquid C will have green color. Therefore, when our teacher mixes liquid A and B tomorrow, she will create a liquid that is either green or yellow in color.

Which of the following identifies an error of reasoning in the passage?

(A) It assumes that liquid C is formed by the mixture of liquids A and B.

(B) It assumes that a chemical reaction will occur in a similar way to the way it did in the past.

(C) It assumes that the teacher will add some other liquid to the mix in addition to A and B.

(D) It assumes that the teacher will not mix equal parts of liquid A and B.

(E) It assumes that the liquid will not be hidden by the teacher before the class sees what color it has become.

18. Due to the release of a movie version of a classic novel, the number of students checking that book out of the school library has significantly decreased.

Which one of the following conforms most closely to the principle illustrated above?

(A) Because of the wide variety of DVDs on the market, sales of high-quality DVD players have improved.

(B) Because of the rising cost of wild salmon, sales of farm-raised salmon are increasing.

(C) Because a popular cookie is now available in individual-serving boxes, sales of the original large box have decreased.

(D) Because neither of the two most popular computer games has all the features players want, neither has been able to dominate the market.

(E) Because a new library policy restricts the length of time books can be checked out, patrons are now checking out fewer books.

19. Guitars are musical instruments of diminished importance in the pop music era. Synthesizers and drumbeats have been brought to the forefront of music compilations and consequently have edged out classic rock’s staple electric guitar. Recordings now focus mainly on background noise and reverb, rather than on the eloquent sounds of the master guitarist. If classic rock is to survive, then its fans will need to find a way to bring its flagship instrument back to center stage in this decade’s new musical genres.

Which of the following, if true, would undermine the conclusion of the passage?

(A) The popularity of classic rock is not dependent upon any trait or aspect of any new musical genre.

(B) Classic rock will survive only if electric pianos are given greater significance and placed stage front.

(C) Classic rock will never be extremely popular again, even if the guitar is brought to the forefront in tomorrow’s music genres.

(D) Blues music is not superior to classic rock, but it will survive longer than other jazz and some other genres.

(E) An unusual number of pop musicians play classical guitar and would enjoy exploiting its versatility in their music.

20. Historian: In order to build the pyramids, the Egyptians had to move large blocks of rock that weighed hundreds of tons over large distances. The question of how this feat was achieved puzzles the modern-day historian. Some people claim that the Egyptians built the pyramids using wind power; they attached a type of kite to the block, and the force of the wind allowed a small group of people to push the block along toward its destination. However, this is impossible, because, as anyone who has visited the country today knows, Egypt is entirely devoid of wind.

Which of the following identifies a flaw in the argument?

(A) It ignores the fact that Egyptians could have used kites for things other than capturing the wind.

(B) It assumes the continuation of a condition that might have changed from several thousand years ago.

(C) It neglects to mention that millions of people would have been working on the project regardless of the wind.

(D) It claims that using wind would be a necessary condition for moving the blocks.

(E) It fails to account for the long amount of time that Egyptians took to build each pyramid.

21. Anthropologist: It is inevitable that a species of ant will take over the world if we let ant colonies subsist into the next evolutionary era. The facts that imply this turn of events are clear and corroborated. First, the total ant population is hundreds of times greater than the human population. Second, ants are smaller and need less food per individual and therefore will be less susceptible to overpopulation. Third, the ant’s exoskeleton will allow it to adapt to any environment. Fourth, the ant’s shorter life span causes it to evolve faster than the human population. In conclusion, there is simply no way for humans to halt a future ant takeover if we do not stop them now.

Which of the following, if true, would be the best evidence to counter the anthropologist’s final conclusion?

(A) Ants do not possess the rational capacity to form sentient thoughts and therefore will never be able to exert the kind of global domination that humans do.

(B) Most arthropod species could not be eradicated right now even if humans were to decide to try to do so.

(C) In the future, human nations will be able to stop any ant takeover by setting off a series of atom bombs that will create a nuclear winter.

(D) Ants are not the most highly sophisticated arthropod that humans should be worried about—grasshoppers and crickets are much more dangerous.

(E) Aliens could arrive on Earth during the next evolutionary era, and they will probably subdue all species of ants.

22. It has been demonstrated that people who heavily consume alcohol are more stressed than people who are less intensive drinkers. Studies show the same for cigarette smokers. People who smoke tend to have a higher incidence of stress than the population of nonsmokers. Studies show a huge overlap between groups who drink heavily and smoke. Studies also demonstrate a relationship between strained interpersonal familial relationships and drinking. Therefore, in order to curb familial problems, people should find ways to cut down on their stress levels.

A flaw of the reasoning in this passage is that it

(A) neglects to mention that use of illegal drugs is tied to interpersonal problems

(B) assumes that stress levels create interpersonal problems and not the other way around

(C) identifies the implications of drinking and smoking in the argument’s conclusions

(D) omits revealing the causal relationship between stress and cigarette smoking

(E) infers that stress leads to interpersonal problems, which lead to alcohol consumption and smoking

23. Self-deprecating humor is the funniest kind as long as a listener is able to get the jokes. It is a type of humor that allows a comic to make commentary based on an introspective view of the wheels and cogs that turn his or her own psyche. Comedians who are unable to view their inner workings effectively are incapable of using this sort of humor, but those who have the inner awareness to be self-deprecating gain access to stockpiles of jewels that can be brought out for a crowd at any moment. It would make sense, therefore, that audience members who are not self-knowledgeable enough to understand their own psyches are not capable of enjoying humor that is self-deprecating.

Which of the following techniques is used by the author in drawing the argument’s conclusion?

(A) comparing comedians to stockpiles of jewels that can be brought out for the crowd at any moment

(B) implying that comedians who are able to think introspectively are able to make funnier jokes than comedians who do not think introspectively

(C) questioning the validity of a certain assumption by professing the merits of a competing assumption

(D) making assumptions about the capabilities of audience members based on the capabilities of comedians

(E) humorously misapplying the key term “funniest” in determining the quality of a comedian’s jokes

24. The judgment that a person is a “good” person always rests on an appraisal of the quality of a number of acts that he or she has previously engaged in. A series of virtuous acts is the only test for a person’s “goodness.” Therefore, saying that a person is “good” is only to summarize a series of his or her acts, and labeling a person as “good” provides no basis for predicting the quality of that person’s future or unknown acts.

Which of the following is logically flawed in the way most similar to the argument above?

(A) A manager is known to be a manager only because he or she has engaged previously in managerial acts. Therefore, nothing can be determined about a person known as a manager solely based on his or her having the title of manager.

(B) A sports psychologist talks to sports players and would not be employed if he or she did not talk with sports players. Therefore, nothing can be determined about a sports psychologist who does not talk to sports players.

(C) A baseball player’s being called a successful hitter is determined only by the number of balls that he has hit well in his games to date. Therefore, no judgment can be made about the future quality of the hitting of someone who has become known as a successful hitter.

(D) Politicians are judged to be politicians only on the basis of their being elected by the people. Without being elected, a person would not be a politician. Therefore, predictions can be made about a person’s future as a politician by knowing the future opinions of the populace.

(E) Swiss trains have earned the reputation of being “punctual.” Without constantly being on time, they would have never gained this reputation. Therefore, you can predict the nature of the trains based on their reputation.

25. Robert: People who invest in the stock market should be surprised when their investments suddenly diminish. After all, companies portray themselves to be safe and good investments. When it turns out that they are not, people have every reason to be astonished.

Amanda: People should be surprised only when companies make bad decisions that would have negative implications on their stock prices. It is the job of executives to prevent companies from doing this, and yet sometimes the companies still do so.

Which of the following, if true, would tend to support Robert’s argument?

(A) Surprise is a reaction that should be reserved for the most extraordinary circumstances, such as earning money.

(B) It should be unsurprising when good investments mature to produce really good returns.

(C) Immature stock funds should never be divested until they have an opportunity to mature.

(D) People should not expect companies to have qualities that are different from the ones those companies portray to investors.

(E) CEOs are always surprised when stockholders’ portfolios decline.

STOP

IF YOU FINISH BEFORE TIME RUNS OUT, CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT GO ON TO ANY OTHER TEST SECTION.

SECTION 2
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Directions: The questions in this section are divided into groups. Each group is based on a set of conditions. For each question, choose the answer that is most accurate and complete. For some questions, you may wish to draw a rough diagram to help you select your response. Mark the corresponding space on your Answer Sheet.

Questions 1–6

At a local boat race, six boaters, Anna, Ben, Chris, Dan, Emily, and Fanny, are competing for the watercourse title. Each boater has his or her boat in one of six starting slots.

Every boat starts in a slot, and no boat shares a slot with any other boat.

The starting slots are numbered from 1 to 6.

Chris is in a slot three numbers below Dan’s.

Ben is in a slot three numbers below Anna’s.

Fanny is in a slot with a lower number than Emily’s.

1. Which of the following is a possible order for the boaters to start in?

(A) Fanny, Ben, Chris, Emily, Dan, Anna

(B) Chris, Fanny, Ben, Dan, Emily, Anna

(C) Ben, Anna, Emily, Dan, Fanny, Chris

(D) Chris, Ben, Fanny, Anna, Dan, Emily

(E) Ben, Chris, Emily, Anna, Dan, Fanny

2. If Fanny is in slot 3, then who could start in slot 2?

(A) Anna or Dan

(B) Ben or Chris

(C) Chris or Anna

(D) Dan or Emily

(E) Emily or Ben

3. If Chris is in a lower-numbered slot than Ben, then which of the following could be true?

(A) Dan is in a higher-numbered slot than Anna.

(B) Fanny is in a higher-numbered slot than both Dan and Anna.

(C) Neither Fanny nor Chris is in slot 1.

(D) Chris and Ben are not in consecutive slots.

(E) Neither Emily nor Dan starts in slot 4.

4. If Anna starts in a slot numbered one lower than Dan’s slot, then which of the following must be true?

(A) Ben starts in the slot numbered one lower than Chris’s slot.

(B) Emily starts in slot 4.

(C) Dan starts in a lower-numbered slot than Emily.

(D) Either Anna or Chris starts in slot 3.

(E) Chris and Fanny start in consecutive slots.

5. If Chris, Emily, Anna, and Dan start in consecutive slots in that order from least to greatest, then which of the following CANNOT be true?

(A) Fanny starts in slot 1.

(B) Two boaters start in higher-numbered slots than Emily’s slot.

(C) Ben and Chris do not start in consecutive slots.

(D) Anna starts in slot 5.

(E) Ben does not start in slot 3.

6. If Ben starts in slot 1 and Chris starts in a higher-numbered slot than Fanny, then which of the following could be true?

(A) Nobody starts in slot 5.

(B) Fanny starts in a slot three numbers below Emily’s.

(C) Emily starts in a higher-numbered slot than Dan.

(D) More than one slot separates Chris and Emily.

(E) A person whose name begins with a vowel starts in slot 3.

Questions 7–11

In an ancient Greek town, there are eight huts that exist in two perfectly parallel rows. The arrangement of the huts resembles the following diagram:

[image: Image]

Animals tread between these huts wearing out the grass, so the chief of the town has decided to pave paths between the huts with a primitive form of concrete. He keeps in mind several rules when planning these roads:

Each hut in row 1 is connected to one and only one hut in row 2.

Each hut in row 2 is connected to one and only one hut in row 1.

Roads can connect huts in one row to other huts in the same row.

All roads are perfectly straight lines, and none extends beyond the town.

7. What must be true if there are zero intersections of roads?

(A) There are four roads total.

(B) A connects with C.

(C) T connects with V.

(D) B connects with S.

(E) C connects with D.

8. What must NOT be true if there is only one intersection?

(A) A connects with S.

(B) D connects with T.

(C) R connects with C.

(D) V connects with T.

(E) V connects with D.

9. What must be true if there are only two intersections and B is connected to T and A is connected to R?

(A) S is connected to D.

(B) C is connected to S.

(C) V is connected to T.

(D) T is connected to C.

(E) B is connected to A.

10. What must NOT be true if R connects to D and there are only three points of intersection?

(A) S connects to A.

(B) D does not connect to V.

(C) B connects to T.

(D) C does not connect to V.

(E) T does not connect to A.

11. If B connects with T and D connects with R, then which of the following could be true?

(A) S connects with B.

(B) T connects with D.

(C) V connects with T.

(D) R connects with B.

(E) D connects with V.

Questions 12–17

There are seven members of a social club, the Nissu Warriors: Amee, Britt, Carolyn, Dean, Elba, Kalee, and Marisa. Some members are more outgoing than others, and a few members do not like each other. They will attend a party in accordance with the following conditions:

Elba attends if Britt attends.

Neither Carolyn nor Amee will attend if Elba attends.

If Kalee does not attend the party, then Amee will.

Britt attends if Dean attends.

12. Which of the following could be a complete and accurate list of the club members who attend the party?

(A) Amee, Carolyn, Kalee, Marisa

(B) Amee, Britt, Carolyn, Elba

(C) Britt, Carolyn, Dean, Kalee

(D) Britt, Carolyn, Dean, Marisa

(E) Amee, Elba, Kalee, Marisa

13. If Dean and Marisa both go to the party, then exactly how many of the other club members must also attend the party?

(A) one

(B) two

(C) three

(D) four

(E) five

14. What is the maximum number of club members who could attend the party if Kalee does not attend?

(A) one

(B) two

(C) three

(D) four

(E) five

15. If Carolyn and Marisa both go to the party, which of the following must be true?

(A) Amee does not attend the party.

(B) Elba also attends the party.

(C) Britt also attends the party.

(D) Kalee also attends the party.

(E) Dean does not attend the party.

16. If exactly three club members go to the party, then each of the following could be true EXCEPT:

(A) Elba and Britt both attend the party.

(B) Britt and Marisa both attend the party.

(C) Marisa and Amee both attend the party.

(D) Carolyn and Kalee both attend the party.

(E) Kalee and Marisa both attend the party.

17. Which of the following could be true?

(A) Carolyn attends the party, but Britt does not.

(B) Dean attends the party, but Britt does not.

(C) Carolyn and Britt both attend the party.

(D) Carolyn and Dean both attend the party.

(E) Amee and Britt both attend the party.

Questions 18–24

A Girl Scout troop of seven girls, A, B, C, D, E, F, and G, is broken up into three groups to distribute cookies. Each scout is in a group and no scout is in more than one group. Group 1 has two scouts, group 2 has three, and group 3 has two. Due to interpersonal difficulties, the scout master arranges the groups according to the following constraints:

A is in a group with G.

B is not in a group with C or D.

E is not with C or D.

18. If A is in group 2, then which of the following could be true?

(A) C is in group 1, and D is in group 3.

(B) B is in group 1, and E is in group 3.

(C) F is in group 2 with A and G.

(D) G is in group 3 with B.

(E) C is in group 1, and E is in group 1.

19. If G is in group 1 or in group 3, then which of the following must be true?

(A) F is in group 2.

(B) B is in group 3.

(C) E is in group 2.

(D) B and E share a group with F.

(E) C is in group 1 or 2.

20. If A and E are in group 2, then which of the following must be true?

(A) G shares a group with D.

(B) F shares a group with B.

(C) D shares a group with F.

(D) C and D are in group 3.

(E) E does not share a group with G.

21. If F is in group 3, then which of the following is impossible?

(A) A is in group 2.

(B) E is in group 3.

(C) D is in group 2.

(D) B is in group 2.

(E) G is in group 1.

22. If F and E are in group 1, then which of the following must be true?

(A) B is in group 2.

(B) G is in group 3.

(C) D and A share a group.

(D) A is in a higher-numbered group than C.

(E) C and D do not share a group.

23. If A is in group 2 and F is in group 1, then how many possible arrangements are there for the variables?

(A) two

(B) four

(C) six

(D) eight

(E) ten

24. If F is not in a group with A, B, or E, then which of the following must be true?

(A) F is in group 2.

(B) F is in a group with C or D.

(C) F is in a group with G.

(D) B is in group 3.

(E) C and D are in group 3.
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1. People who are concerned citizens know and abide by the rule that if their pets want to go into the park during the daytime, the animals should be kept on a leash so that their excitement does not become a problem and disturb people who are in the park to enjoy the quiet nature of the outdoors. Alex is a concerned citizen, but he never leashes his dog when they go into the park together during the daytime.

Which of the following can be inferred from the passage?

(A) No one else is in the park when Alex enters the park.

(B) Alex’s dog gets excited, but not very excited when he is in the park.

(C) People who are in the park are concerned citizens.

(D) All cats should be leashed before they are allowed to enter the park.

(E) Alex’s dog never wants to go into the park.

2. Billy:  Karate movies are the best movies to watch with a date. Think of it this way: If your date can’t enjoy a dumb movie, then you probably do not want to continue hanging out with her. But, if your date is cool enough to like a karate movie, then she would probably like other, more meaningful movies too. Either way, going to a karate movie will allow you to tell immediately if your date is someone you want to hang out with.

Which of the following must be assumed for this argument to be logically drawn?

(A) Determining whether a date is someone you want to hang out with is something most boys like to do.

(B) Girls in general do not like karate movies because the movies are silly, violent, and boring.

(C) Most boys would sit through a karate movie in order to determine whether a date is someone they want to hang out with.

(D) The movie differentiation mechanism would work just as well with a movie about jujitsu.

(E) If a date does not like at least one type of dumb movie, she is not someone you want to hang out with.

3. In 2004, 60 million Americans worked for more than 40 hours a week on average, and approximately 55 million Americans found their jobs to be unreasonably demanding. These figures demonstrate that a relatively small portion of those who worked for more than 40 hours per week on average did not find their jobs to be “unreasonably demanding.”

Which of the following is a logical flaw of the argument?

(A) It draws a conclusion based on evidence that could support several conclusions.

(B) It overlooks the possibility that there is little or no overlap between groups.

(C) It provides no information regarding groups of workers who worked over 50 hours per week.

(D) It juxtaposes two pieces of concluding text regarding groups with bivariate tendencies.

(E) It makes a conclusion based on premises that contradict each other.

4. Somnambulist:  A person should invest a serious amount of time in choosing a bed. Instead of ordering a bed from a catalog or just going to the store to look at one, a person should bring a new mattress home for a couple of days and sleep on it before buying it. This will give the person a good idea about whether he or she will be comfortable sleeping on the purchase from then on. Many people do not realize that they can become unconsciously disgruntled with their bedroom selection, and that it will cause incessant troubles for them in their subconscious life. People should realize that humans spend half their lives asleep.

Which of the following functions does the last sentence play when the entire passage is considered?

(A) It is the main point toward which the argument as a whole is directed.

(B) It is an irrelevant piece of evidence included merely to summarize the passage.

(C) It is a premise on which the argument as a whole is based.

(D) It is an assertion that supports the conclusion.

(E) It clarifies the meaning of an ambiguous sentence in the passage.

5. Professor:  A healthy prenatal environment is the most vital factor in producing an intelligent offspring. The steroids, minerals, and vitamins that are transferred into prenatal brains jump-start cranial enlargement and neurodevelopment. There is simply no way for infants who experience malnourishment in their prenatal environments to catch up with other children who were not malnourished.

Doctor:  Practically speaking, very few children experience malnourishment in their prenatal environment. A much larger portion of the population experiences malnourishment in their neonatal environment. On average, this neonatal inadequacy of diet holds larger implications for the intelligence of offspring than the specifics of the prenatal environment.

Which of the following is the point at issue between the professor and the doctor?

(A) the negative implications that malnourishment holds for a child’s intelligence

(B) the importance of a child being adequately nourished within its prenatal environment

(C) the relative importance of neonatal nourishment in producing intelligent offspring

(D) the need for doctors and professors to monitor the nourishment of a child through both prenatal and neonatal stages

(E) the inability of children to overcome the inadequacies of their environments

6. Many critics believe that music causes emotions. The lyrics, chords, and melodies of songs inspire our souls and pluck at our heartstrings, making listeners respond with a passion and zeal for life that cannot be similarly produced by any other human endeavor. It has not been until recently, however, that we as a culture have been able to realize this quality of music, because only since the 1920s has music been commercially available. Hundreds of millions of sales of CDs, tapes, and phonographs make it apparent that music is incredibly evocative and can be factored into people’s lives, wherever and whenever they want it, by the simple pressing of a “play” button. Before music’s commercialization, a person could not have had such easy access to music, and therefore, it was not possible for music to have such a huge impact on anyone’s life.

Which of the following, if true, would most support the conclusion that society has only recently realized the evocative quality of music?

(A) More CDs have been sold than tapes, 8-tracks, and phonograph records combined.

(B) The commercialization of music was necessary for society to realize music’s emotional effects.

(C) Music inspires emotion only if it is not played at CD-level digital quality.

(D) People long ago could go to their local pub or dance hall to feel the emotional effects of good music.

(E) People who played instruments in ancient Greece could not appreciate the emotions that music inspires.

7. Lobbyist: The airborne pollution made by automobiles has little to no effect on people’s everyday lives. After all, increase of the CO2 concentration in breathable air affect only those living in big cities, because by the time the city air has diffused to the countryside, trees have been given the time to filter out excess CO2 and replace it with pure oxygen. Therefore, there is no reason to strengthen the regulations on vehicular exhaust fumes.

Which of the following would most weaken the lobbyist’s argument?

(A) People living outside of the city have less tolerance for high CO2 concentrations than people in the city.

(B) It would be very costly to force the auto industry to make more environmentally friendly automobiles.

(C) Exhaust fumes from factories have been proven to have detrimental effects on the everyday lives of city inhabitants.

(D) An environmental group runs a study that details the negative effects of CO2 pollution.

(E) There are other pollutants that are created by car exhaust fumes besides CO 2 that negatively affect people’s lives.

8. All basketball players hate the rain. All people who hate the rain do not like cats. Many tall people are basketball players.

Which of the following would need to be assumed in order to reach the conclusion that no one who owns a cat is a basketball player?

(A) All tall people do not own a cat.

(B) If you own a cat, then you dislike cats.

(C) No one who dislikes cats owns a cat.

(D) Some people who hate the rain do not own a cat.

(E) No one who likes the rain owns a cat.

9. The great Roman Julius Caesar was hated by all Roman citizens. This animosity is shown by historians through multiple documents describing the circumstances surrounding Caesar’s death. These documents reveal that in the end even his best friend, Brutus, wanted to kill him. Roman politicians and senators also conspired to bring about his death.

A flaw in the argument is that the author

(A) assumes that whatever is true of a group is true of a sample of that group

(B) argues for a course of action that is counterproductive

(C) makes a conclusion based on a small and unrepresentative sample of a group

(D) makes an appeal to the opinion of an implausible authority

(E) treats a failure to prove a claim as proof of a denial of the claim

10. It has been claimed that many people who own video game systems do not use them. This is preposterous because it is impossible for someone to own something that would bring so much happiness and not use it constantly.

The reasoning above is analogous to the reasoning in which of the following?

(A) A statement has been issued that the country of Minishu has nuclear weapons. Minishuan officials claim that they will never use the weapons, but this is unlikely since the only reason to have weapons is to use them.

(B) Bernie claims that he never listens to his Jeff Buckley CD. However, he is lying because the CD brings too much aural satisfaction not to be listened to repeatedly.

(C) Absalom claims that he loves his father dearly. However, based on the actions of the biblical figure of Absalom, his claim is not likely to be true.

(D) It has been claimed that tigers will eventually become extinct. However, this is unlikely because they have sharp claws and teeth that will always aid them in catching prey.

(E) It has been argued that many people who own cars do not use them enough. This claim is inarguable because it is impossible to determine how much a car should be used.

11. Captain:  The Bermuda Triangle is a place of great danger, where the seaweed has eyes, where there are ghost ships in the fog, where grisly squid will envelop a boat and pull it and its crew into the depths. My crew will never return to this dreadful place, no matter how thirsty they may be for adventure and riches.

First Mate:  Captain, I respect your wishes and utterly agree with you about the dangers of the Triangle, and about the crew’s reluctance to return there. But as soon as we return home, you are scheduled to sail through the Bermuda Triangle to Africa. Am I to cancel this voyage for you?

Which of the following is the point at issue between the captain and the first mate?

(A) whether the captain will return to the Bermuda Triangle

(B) whether the first mate will return to the Bermuda Triangle

(C) whether the crew will return to the Bermuda Triangle

(D) whether the Bermuda Triangle holds no danger for sailors

(E) whether the members of the crew will cancel their future voyages through the Triangle

12. Musician: People enjoy music because it stirs the native passions latent in everyone’s soul. Even the most uptight and rigid person relaxes when hearing a good jazz tune. The most depressed human being lightens at the sound of Bach’s “Air in G.” Music fills a person with any emotion he or she would like to feel. All someone has to do is pick a song and play it to suddenly be filled with the emotion that the song was designed to evoke in its listeners. In the next voting term, people should vote to raise school spending on music programs.

Which of the following roles does the assertion that people should vote for increasing school spending on music programs play in the argument?

(A) It is the main point toward which the argument as a whole is directed.

(B) It is a claim that is largely unsupported by evidence.

(C) It is a premise that will be validated if listeners agree with the main point of the argument.

(D) It reformulates a previously stated argument in the passage.

(E) It juxtaposes expenditure and particular ways of enjoying music.

13. The American Revolution was at first greeted with widespread cynicism. Almost no one truly believed that a bunch of disheveled American soldiers could defeat the English army, an army that was more than likely the world’s most powerful one since the early Renaissance. Eventually as the war wore on, Americans realized that they would not really have to defeat the English army; they would just have to force them into a stalemate through the use of guerrilla warfare. After realizing this, Americans began to feel very positive about the revolution. They foresaw that America could cause England to lose its resolve and that eventually the king would relinquish his efforts to dominate American soil.

Which of the following is the main point of the passage?

(A) The leaders of the American Revolution were initially met with a large amount of skepticism.

(B) The American army was doomed if it tried to battle the English army in a head-on attack.

(C) Guerrilla warfare was the only way to successfully fight the English army.

(D) The English king would eventually tire of his efforts to dominate America if the Americans used guerrilla warfare.

(E) American sentiment toward the Revolution changed for the better as the war wore on.

14. Sports gambling is a dangerous hobby because you have no real control over the outcome of a particular game. Sure, you can study statistics and injury reports, but when it all comes down to it, the majority of outcomes are determined solely by chance. Bookies employ groups of people who, for a living, study the odds of every betted game in order to make sure that the bookie will make money. Some people assume that they can guess at the odds better than these hired statisticians, but, in general, it is impossible to improve a bettor’s chances. This is why gambling on sports is almost always a waste of time and money.

Which of the following can be concluded from the paragraph?

(A) Sports gamblers would be better served by playing poker for a living.

(B) Investing in the outcomes of sports games is like investing in the stock market.

(C) Bookies are able to determine the odds on games better than any other group of people.

(D) Dangerous hobbies can be physically dangerous in addition to being monetarily risky.

(E) Most sports gamblers could do something more constructive with their money than bet on sports.

15. Journalist:  Choosing a new pope is a difficult decision because the church desires a person who is very experienced in the faith and also someone who can lead the faith well in modern times by being in touch with modern times. The problem is that people who are very experienced in the faith are often very old, and people who are very old tend to be out of touch with modern times, so it appears that there is almost never a pope chosen that fits both criteria. The best decision would be for the church to choose a pope who is young enough to be in touch with modern times and who will likely become a person very experienced in the faith.

Which of the following can be concluded about the journalist’s opinion from the passage?

(A) It is better to choose a pope who is in touch with modern times than to choose one who is very experienced in the faith.

(B) The pope should never be a person who is inexperienced in the faith, even if he is in touch with modern times.

(C) Popes who are both in touch with modern times and very experienced in their faith are best able to serve as ambassadors.

(D) People who are very experienced in the faith and who are in touch with modern times should always become the pope.

(E) Priests who dislike the pope would be best served by voicing their opinions before he is elected rather than after.

16. A park officer reports that in the previous year, 30% of the bear population in the park was determined to be excessively aggressive toward humans. This year, a full 60% of the bear population has been found to be excessively aggressive. However, bear attack statistics show that in the past 12 months there have been only 3 bear attacks on humans, whereas last year there were 12 such bear attacks over the same time period.

Which of the following would help to resolve the apparent discrepancy present in the passage?

(A) Throughout the nation, there have been fewer bear attacks this year than in previous years.

(B) More people have been bringing knives to parks in order to protect themselves during attacks.

(C) Fifteen people have decided not to visit the park this year because of the risk of bear attacks.

(D) At the end of last year, three-quarters of the park’s bear population was permanently deported to a far-off park.

(E) A local news anchorman has decided to make peace with the bears by feeding them honey on the day of the summer solstice.

17. Westerbrook Academy requires the donations of many generous patrons in order to continue operating. Generous patrons need good financial prospects or tax breaks in order to donate to Westerbrook. The government needs a surplus or a negligent executive in order to give tax breaks to people in the economic bracket of Westerbrook’s patrons. The executive of the government is never negligent.

If Westerbrook Academy gets donations and there is no governmental surplus, then which of the following must be assumed?

(A) Tax breaks were given to Westerbrook Academy’s patrons.

(B) A negligent executive was one of Westerbrook Academy’s patrons.

(C) Westerbrook Academy received funding in addition to that given by generous patrons.

(D) Westerbrook Academy’s generous patrons have good financial prospects.

(E) Westerbrook Academy relies on government contributions to sustain itself.

18. Political races should be completely subsidized by the government. This would allow for candidates to spend less time fundraising and more time differentiating themselves from their opponents based on substantive issues. It would also free candidates from owing any favors to big corporations once they get into office. When elected under this subsidized system, officeholders would be able to make impartial decisions about corporate acts without feeling as if they had a vested interest in the success of a particular company that had donated large sums of money to their campaign. Fully subsidizing races would equalize the playing field, since every candidate would have an equal amount of money with which to campaign. All these results would greatly improve the political environment of our nation, and in order to enjoy each of these advantages, we only need to lobby the government to completely subsidize political races.

Which of the following principles, if established, provides a basis for supporting the argument above?

(A) Political races should be based on the candidates’ views, not the ideas of other people.

(B) It is more important for the populace to hear substantive issues than propaganda if the people are to successfully choose a candidate.

(C) Politicians should not owe any favors to corporations.

(D) Political candidates should be allowed to raise money from ordinary donors but not from corporations.

(E) Governments should not get involved with candidates at election time.

19. Singer:  People who listen to music consistently become able to emphatically feel the beat of the world moving around them. They begin to take pleasure in the cosmic pendulum that swings them back and forth through the progression of their days. They learn to appreciate the beginnings and the endings of their spirituality and see where it interfaces with their existence in mortal life. By interpreting and enjoying the movement of songs, a whole new mode of existence is opened up to them.

Pragmatist:  The people of whom you speak do tend to be more emphatic and emotional than other people, but the abstract and diverse nature of the effects that you claim are simply impossible to tie to any one cause.

Which of the following is the point at issue between the singer and the pragmatist?

(A) the breadth of the effects that listening to music holds for its listeners

(B) the specific musical genre responsible for the effects that the singer claims

(C) whether listening to music creates any positive effects

(D) whether anything that is abstract can be tied to a cause that is wholly concrete

(E) the merits of advising people who are not music listeners to listen to music

20. Entomologist:  The purple dung beetle has gained its remarkable color through several generations of evolution. Originally, this dung beetle had small, dull, purplish streaks that ran down the length of its dorsal exoskeleton, but some members of the population had more prominent coloring than other beetles. This coloring pattern allowed them to be more noticeable to female beetles roaming through the dung looking for mates. It was so much easier for females to spot vividly striped beetles than beetles of more traditional coloring patterns that the latter were bred out of the gene pool.

Which one of the following, if true, would most support the argument?

(A) Prominently colored dung beetles are more evident to predators and have a much lower life expectancy than traditionally colored dung beetles.

(B) Female dung beetles are very attracted to, and will mate with, dung beetles that are painted bright yellow.

(C) Purple dung beetles have larger mandibles and are stronger than traditional dung beetles.

(D) The colors of dung beetles’ exoskeletons have profound implications for their attractiveness to the females of their population.

(E) Purple dung beetles tend to eat more, reproduce more, live longer, and grow larger than traditionally colored dung beetles.

21. The street luge is an extreme sport that combines the basic idea of the Olympic ice luge with wheels and an asphalt hill to roll down. People who engage in luging on ice are subject to very dangerous conditions due to the high speed of their bodies next to areas that are very hard and abrasive. If lugers fall on ice, they get hurt badly, but if street lugers fall, they get hurt even worse. This is because people are able to slide on ice.

Which of the following can be concluded from the passage?

(A) There are more injuries from street luging than ice luging.

(B) Bobsled racers are hurt more often than lugers.

(C) Street luging is more dangerous than ice luging.

(D) Asphalt is a harder and more abrasive surface than ice.

(E) The hills that ice lugers travel down are of a grade similar to those traveled by street lugers.

22. Movie stars fraternize with other movie stars for several reasons. First of all, they meet each other at work on the movie sets. Secondly, they lead similar lives and have similar job paths, so they feel as if they can understand each other. Finally, they associate with each other in hopes of picking up another movie deal through their networking. In conclusion, the social habits of a movie star are complex, but they can be boiled down to the fact that there are numerous positive reasons for a movie star to associate with another movie star.

Which of the following is the main point of the passage?

(A) There are no negative aspects to movie stars associating with other movie stars.

(B) There are at least several reasons why movie stars associate with each other.

(C) Movie stars fraternize together because they work in the same industry.

(D) Movie stars are likely to get new movie parts by socializing with other movie stars.

(E) Some movie stars do not socialize with other movie stars.

23. Protester:  Children are taught from birth that fighting and violence toward others is immoral, but even so, it is no small wonder that this peaceful moral imperative is not assimilated by the majority in our nation. As adolescents, children are allowed to watch violent TV shows that feature characters who are idolized solely because of their violent tendencies. As adults, our people are governed by leaders who impose their wholly unprovoked imperialistic tendencies on seemingly peaceful nations. Even though the moral backdrop of our childhoods should bolster a predilection toward peace, the righteous moral framework of our culture is constantly subverted by important role models within our society. Until our role models reform their behavior, our society can never really claim that it promotes peace.

Which one of the following, if true, would most undermine the protester’s argument?

(A) When role models engage in a small amount of violence, they will in fact promote a substantial amount of peace.

(B) The penchant to engage in violence to achieve peace is not morally sustainable for any society.

(C) Children should not be taught that peace is achievable because personal convictions are unsustainable when confronted with opposing mindsets.

(D) TV characters and the leaders of society have little to no effect on prenatal children.

(E) Harmonious discourse between societies will not be achieved until there is a multinational movement categorically to promote the value of peace in place of violence.

24. Salespeople are a special breed. They live off their skill at convincing people to part with one of their most prized possessions: money. To do this, salespeople have to be fairly slick, well put together, eloquent, and mentally quick. Otherwise, many buyers would become uninterested in the salespersons’ products and the salespeople would lose business. Some salespeople work on an hourly rate in addition to a commission, but most earn nothing more than a percentage of the price of the products that they sell. Sam the salesman has not sold a product in years, but he still is getting paid. He sells figurines of rabbits for a major pottery maker in West Virginia. The figurines are designed to sit on the desks of salespeople in order to function as good luck charms.

Which of the following is the best inference that you can make from this argument?

(A) Sam is not paid by commission.

(B) Sam is a good salesman with a bad product.

(C) Sam should quit his job to find one with a better product.

(D) Sam is paid an hourly rate.

(E) Sam understands that it’s difficult selling products to other salespeople.

25. In China, side-by-side comparisons between the staple crops of rice and corn reveal that rice always produces more food per cultivated acre than corn can produce. This fact demonstrates that the United States would be best served by switching its agricultural focus from corn to a completely rice-based production scheme that would be sure to provide enough food for our growing population.

Which of the following, if true, would cast doubt on the recommendation in the argument?

(A) The United States has a variety of different climates and soil types that are able to support corn.

(B) Corn crops are able to subsist in more diverse geographic locales than rice.

(C) Corn crops are demanding on the soil and therefore can only be successfully cultivated every three years on a particular plot.

(D) Most regions in the United States do not have climates that would be able to support rice crops.

(E) Corn is more susceptible to disease and crop blights than rice.

STOP

IF YOU FINISH BEFORE TIME RUNS OUT, CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT GO ON TO ANY OTHER TEST SECTION.

SECTION 4
Time—35 minutes
27 questions

Directions: Each passage in this section is followed by a group of questions. Answer each question based on what is stated or implied in the passage. For some questions, more than one answer choice may be possible, so choose the best answer to each question. After you have chosen your answer, mark the corresponding space on the Answer Sheet.

    For a long time, Americans tended to think that
         knowing English was sufficient for all their needs.
         As a result, Americans developed an image as the
         people who cannot say even the most rudimentary
 (5)   phrase in any other language. Fortunately, however,
         many business, political, and educational leaders
         are belatedly realizing that the whole world does
         not speak English, and that even many of those who
         have learned English as a second language prefer to
(10)  converse, to do business, and to negotiate in their
         native tongue.
              Not long ago learning a foreign language was
         considered to be merely a part of a liberal education
         or an intellectual exercise through the study of
(15)  grammar and literature. It was automatically
         assumed that anyone studying a foreign language
         as a major field was going to be a teacher, an
         interpreter, or a translator and had no other career
         options. There is still a need for people in those
(20)  professions. There is also a growing need for
         individuals who possess advanced skills in foreign
         languages and are trained in various technical
         areas. This is a result of increased activity in international
         business, the influx of large amounts
(25)  of foreign capital to the United States, increased
         internationalization, and an expanded awareness of
         the need to conduct not only business but also
         diplomatic relations in the language of the host
         country.
(30)       A second language is now becoming a vital part
         of the basic preparation for an increasing number of
         careers. Even in those cases where the knowledge
         of a second language does not help graduates obtain
         a first job, many report that their foreign language
(35)  skills often enhance their mobility and improve
         their chances for promotion. In addition to any
         technical skills that foreign language students
         choose to develop, they also have further tangible
         advantages in the job market. In a recent study that
(40)  sought to ascertain which college courses had been
         most valuable for people who were employed in
         the business world, graduates pointed not only to
         career-oriented courses such as business management
         but also to people-oriented subjects like
         psychology and to classes that had helped them to
         develop communication skills. Foreign language
         students, whose courses focus heavily on this
         aspect of learning, often possess outstanding
         communication skills, both written and oral.
(50)  Furthermore, recent trends in the job marketplace
         indicate a revived recognition of the value of
         general liberal arts training in an employee’s career
         preparation.

1. Which one of the following best states the main idea of the passage?

(A) In recent years, fluency in a foreign language has become an important educational asset and a distinct advantage in the job market.

(B) People who study foreign languages are probably going to be teachers, interpreters, or translators.

(C) Foreign language skills are likely to improve an employee’s chances for promotion.

(D) Increased internationalization in the American business world has necessitated the hiring of more foreign language speakers.

(E) Greater knowledge of a foreign language means a greater paycheck.

2. The author argues that studying foreign languages is

(A) necessary for world travel

(B) an internationalizing experience

(C) the way into business school

(D) merely one part of a liberal education

(E) becoming crucial to career preparation

3. The second paragraph primarily serves to

(A) explain how the United States can obtain more foreign capital

(B) tell the reader about the public view of foreign language study

(C) explain how and why old, widely held misconceptions should change

(D) argue that many Americans have overlooked the power of a strong foreign language background

(E) propose that foreign language studies help us learn more about our own language

4. Which of the following statements would the author of this passage be LEAST likely to agree with?

(A) The rise in demand for foreign language speakers in the job market is paralleled by the rise of international business.

(B) Knowledge of a second language does not always help students obtain a first job.

(C) Foreign language students still have many job options even without possessing another technical skill.

(D) Studying a foreign language also builds a student’s communications skills in his or her first language.

(E) The recent increase in demand for foreign language speakers in the job market is only temporary.

5. The passage suggests which of the following about foreign language study in the past?

(A) The lack of it held back American business.

(B) It seemed a frivolous part of a general liberal arts education.

(C) It was limited to European universities.

(D) It was as pertinent to any student as it is now.

(E) It was seen as a valuable experience in improving one’s communication skills.

6. Of the following, the author’s primary purpose in writing the passage most likely is to

(A) call attention to the increasing importance of foreign language studies in the job market

(B) argue that foreign language studies are not the superficial exercise they once were thought to be

(C) enlist students to study to become translators and foreign language teachers

(D) debate the effects of internationalizing business

(E) search for modern reasons to study foreign language

         Passage A
         The Search for Extraterrestrial Intelligence
         (SETI) is still no trivial task. Our galaxy is 100,000
         light-years across, and contains a hundred thousand
         million stars. Searching the entire sky for
  (5)  some faraway and faint signal is an exhausting
         exercise.
               Some simplifying assumptions are useful
         to reduce the size of the task. One is to assume that
         the vast majority of life-forms in our galaxy are
(10)   based on carbon chemistries, as are all life-forms on
         Earth. While it is possible that life could be based
         around atoms other than carbon, carbon is well-
         known for the unusually wide variety of molecules
         that can be formed around it. The presence of
(15)   liquid water is also a useful assumption, as water is
         a common molecule and provides an excellent
         environment for the formation of complicated
         carbon-based molecules that could eventually lead
         to the emergence of life. A third assumption is to
(20)   focus on Sun-like stars. Very big stars have
         relatively short lifetimes, meaning that intelligent
         life would not likely have time to evolve on planets
         orbiting them. Very small stars provide so little heat
         and warmth that only planets in very close orbits
(25)   around them would not be frozen solid, and in such
         close orbits these planets would be tidally “locked”
         to the star, with one side of the planet perpetually
         baked and the other perpetually frozen.
         Passage B
 (1)   SETI, the Search for Extraterrestrial Intelligence,
         faces several problems. First, since we do
         not want to miss signs of life in unexpected
         places, the entire sky must be searched. To find
 (5)   a radio transmission from an alien civilization,
         we also have to search through most of the
         useful radio spectrum, as there is no way to know
         what frequencies aliens might be using.
         Attempting to transmit a powerful signal over a
(10)   wide range of wavelengths is impractical, so
         it is likely that such a signal would be transmitted
         on a relatively narrow band. Thus, a wide range
         of frequencies must be searched at every spatial
         coordinate of the sky.
(15)       There is also the problem of knowing what
         kind of signal to listen for, as we have no idea
         how a signal sent by aliens might be modulated
         and how the data transmitted by it would be
         encoded. Narrow-bandwidth signals that are
(20)   stronger than background noise and constant
         in intensity are obviously interesting, and if
         they have a regular and complex pattern, they
         are likely to be artificial. However, while studies
         have been performed on how to send a signal
(25)   that could be easily decided, there is no way
         to know if the assumptions of those studies are
         valid, and deciphering the information from an
         alien signal would be very difficult.

7. The authors of both passages are primarily concerned with

(A) missions to search for sentient life on other planets

(B) examining the functions and complexities of SETI

(C) narrowing down the number of places in which to search for alien life

(D) showing how likely it is that intelligent life exists elsewhere

(E) the difficulties involved in searching radio waves

8. The author of Passage A implies which of the following about the roles of stars in SETI?

(A) Stars like our Sun usually are orbited by planets rich in carbon-based molecules.

(B) Mid-sized stars like our Sun are most conducive to supporting life in their solar systems.

(C) It would be impossible for life to exist on a planet orbiting a very large star.

(D) As long as planets in a small-star solar system aren’t tidally “locked” to the star, they are favorable for the production of life.

(E) Intelligent life probably does not exist elsewhere in our galaxy.

9. The author of Passage A suggests which of the following about the concerns of SETI?

(A) If Earth is the only place in the universe where life exists, the search will be both endless and fruitless.

(B) The universe may be too large to ever find another set of conditions as conducive to life as those on Earth.

(C) If extraterrestrials were based on an element other than carbon, our simplifying assumptions might discount them as real life.

(D) Because of the inductive basis of our assumptions, it is unlikely that any of them are actually correct.

(E) The creation of fallible assumptions in order to simplify the search may be a necessary risk.

10. The author of Passage B would be LEAST likely to agree with which of the following statements about SETI?

(A) Alien radio signals would probably be transmitted over a range of wavelengths.

(B) It is difficult to predict the actions of intelligent alien life-forms.

(C) Intelligent life probably does exist on some other planets.

(D) Aliens are not likely to code a radio signal in the same way that we do.

(E) It is possible to differentiate an artificial signal from a natural one.

11. Which one of the following most accurately describes the relationship between Passage A and Passage B?

(A) The former provides an overview of SETI, and the latter describes a particular function of it.

(B) The former focuses on narrowing down the search for life, while the latter focuses on the necessity of broadening it.

(C) The former describes assumptions SETI finds necessary, while the latter focuses on the difficulties of the search.

(D) The former argues for the use of SETI, while the latter details the problems with the system.

(E) The former explains why it is necessary to make certain assumptions, and the latter contests the uses of those assumptions.

12. Unlike Passage A, Passage B contains

(A) the view that we should focus our search on Sun-life stars

(B) a description of what an extraterrestrial life-form might be composed of

(C) a statement of the difficulty of searching for alien signals

(D) a way to possibly detect extraterrestrial life

(E) possible locations in which to search for signs of alien life

13. Which one of the following statements is most strongly supported by both passages?

(A) A signal with a regular pulse and complex pattern may be a sign of intelligent life.

(B) Searching the entire sky for signals is a daunting task.

(C) Alien life is most likely to be found on a planet that contains liquid water.

(D) Extraterrestrial communications may need to be decoded.

(E) Carbon-based life is not the only type of life that may exist.

         Since 1993, the Department of Justice (“the
         Department”) has made fighting fraud and abuse in
         the health care industry one of its top priorities.
         Health care fraud and abuse drains billions of
(5)   dollars from Medicare and Medicaid, which
         provide essential health care services to millions of
         elderly, low-income, and disabled Americans. The
         impact of health care fraud and abuse cannot be
         measured in terms of dollars alone. While health
(10)   care fraud burdens our nation with enormous
         financial costs, it also threatens the quality of health
         care. The Department has developed a balanced and
         responsible program to fight health care fraud and
         abuse. The first component of the Department’s
(15)   program focuses on enforcement efforts, including
         the use of criminal and civil tools. The second
         component emphasizes prevention and deterrence,
         through compliance initiatives for the health care
(20)   industry and through public education to empower
         individual patients to be vigilant in identifying and
         reporting potential health care fraud schemes.
             The Department’s enforcement actions have
         proven results. In 1998, $480 million was awarded
         or negotiated as a result of criminal fines, civil
(25)   settlements, and judgments in health care fraud
         matters. Under the requirements of the Health
         Insurance Portability and Accountability Act of
         1996 (HIPAA), $243 million was returned to the
         Medicare Trust Fund to support future beneficiary
(30)   payments. Additionally, the Department reported
         that there were 326 defendants in 219 criminal
         cases who were convicted of health care fraud and
         abuse. At the same time the U.S. Department of
         Health and Human Services excluded more than
(35)   3000 individuals and businesses from participating
         in federal health programs, many due to criminal
         convictions.
             The Department continues to prevent fraud and
         abuse in the following ways: by encouraging
(40)   providers to police their own activities through
         compliance programs; and by sponsoring consumer
         outreach initiatives, such as the consumer fraud
         hotlines, to involve patients with first-hand knowledge
         in the detection of fraudulent practices.
(45)   Settlement agreements with providers also
         emphasize future prevention efforts. Settlements in
         1998 included 231 corporate integrity agreements,
         where providers agreed to change their operations
         so as to prevent fraud from recurring in the future.
(50)       The pace of legislative and industry change is
         altering the landscape of health care delivery and
         payment, presenting new challenges that must be
         planned for, both in prevention and enforcement
         efforts. The Department’s continuing challenge in
(55)   the future is to change the behavior of health care
         businesses so that they will take effective measures
         to prevent health care fraud schemes, while keeping
         enforcement efforts cognizant of the adverse impact
         of providers’ conduct on the welfare of their
(60)   patients.

14. Which one of the following best describes the overall organization of the passage?

(A) A generalization is made, it is argued against with counterexamples, and it is rejected.

(B) A problem is described, solutions are introduced, and the effectiveness of these solutions is explained.

(C) An assumption is made, the validity of the assumption is tested by comparing it to what is known to be true, and the assumption is then verified.

(D) A challenge is presented, plans of action are recommended, and the potential effectiveness of each plan is debated.

(E) A particular government department is introduced, its shortcomings are discussed, and its reconstruction efforts are acclaimed.

15. Which one of the following statements regarding health care fraud is best supported by information presented in the passage?

(A) It is an unsolvable problem.

(B) It has no effect on those who do not pay Medicare taxes.

(C) It has been decreasing in occurrence every year since 1998.

(D) It has both economic and social consequences.

(E) Since the 1980s, the Department of Justice has made the fight against health care fraud a top priority.

16. The author mentions each of the following as possible preventive efforts against health care fraud EXCEPT:

(A) denial of incidental Medicare claims

(B) public education

(C) the use of civil tools to aid in enforcement

(D) exclusion of some former convicts from health program work

(E) compliance initiatives for the health care industry

17. Which one of the following is a claim that the passage makes about deterrence efforts?

(A) For the Department of Justice, these efforts have been successful, though there is still much to be done.

(B) As the landscape of health care payment evolves, the Department’s current efforts will weed out more and more fraud.

(C) The Health Insurance Portability and Accountability Act of 1996 has had the greatest effect on reducing health care fraud in America.

(D) So far, these efforts have been too ineffectual to make much of a difference.

(E) While they have caused a decreased number of fraud incidents, the amount of money lost to health care fraud continues to increase.

18. By using the terms “compliance initiatives” (line 18) and “compliance programs” (line 41), the author shows that the Department is trying to

(A) teach health care patients to pay more attention to details in their dealings with insurance companies

(B) make health care providers become more structurally alike so that prevention efforts will not have to be so diverse

(C) settle many health care fraud criminal cases out of court so as not to damage the reputation of any companies involved

(D) present continuing challenges to be dealt with in the future

(E) convince health care providers to abide by certain government suggestions to curtail the possibility for fraud

19. Which one of the following generalizations about fraud is most analogous to the author’s points in the first paragraph about health care fraud?

(A) Fraud is a social vice without equal.

(B) Fraud is a drain on the economy as well as society.

(C) Fraud hurts both the victim and the perpetrator of the crime.

(D) Fraud can only be fought directly by its victims, so public education should be our primary goal.

(E) Vigilance alone is the most powerful weapon against fraud.

20. This passage was written primarily to

(A) explain how health care fraud affects people on every level of society, from individuals in hospital beds to multi-billion-dollar insurance companies

(B) offer ways to deal with health care fraud as a victim

(C) prescribe changes in the health care system that could effectively end health care fraud in America

(D) call to attention the climbing rates of health care fraud in America and debate some proposed ways to curb this climb

(E) describe the Department’s successful fight against health care fraud in the past several years and its plans for continued success in the future

        A healthy man in his early 60s begins to notice that
        his memory isn’t as good as it used to be. More and
        more often, a word will be on the tip of his tongue
        but he just can’t remember it. He forgets appointments,
(5)   makes mistakes when paying his bills, and
        finds that he’s often confused or anxious about the
        normal hustle and bustle of life around him. One
        evening, he suddenly finds himself walking in a
        neighborhood a couple of miles from his house. He
(10   has no idea how he got there.
                Not so long ago, this man’s condition would
        have been swept into a broad catchall category
        called “senile dementia” or “senility.” Today, the
        picture is very different. We now know that
(15)  Alzheimer’s disease (AD) and other illnesses with
        dementia are distinct diseases. Armed with this
        knowledge, we have rapidly improved our ability to
        accurately diagnose AD. We are still some distance
        from the ultimate goal—a reliable, valid, inexpensive,
(20) and early diagnostic marker, but experienced
        physicians now can diagnose AD with up to 90%
        accuracy.
                Early diagnosis has several advantages. For example,
        many conditions cause symptoms that
 (25) mimic those of Alzheimer’s disease. Finding out
        early that the problem isn’t AD but is something
        else can spur people into getting treatment for the
        real condition. For the small percentage of dementias
        that are treatable or even reversible, early diagnosis
(30)  increases the chances of successful
        treatment. Even when the cause of the dementia
        turns out to be Alzheimer’s disease, it’s good to find
        out sooner rather than later. One benefit is medicinal.
        The drugs now available to treat AD can help
(35)  some people maintain their mental abilities for
        months to years, even though they do not change
        the underlying course of the disease. Other benefits
        are practical. The sooner the person with AD and
        family know about the disease, the more time they
(40)  have to make future living arrangements, handle
        financial matters, establish a durable power of
        attorney, deal with other legal issues, create a
        support network, or even make plans to join a research
        study. Being able to participate for as long
(45)  as possible in making decisions about the present
        and future is important to many people with AD.
        Finally, scientists also see advantages to early
        diagnosis. Developing tests that can reveal what is
        happening in the brain in the early stages of
(50)  Alzheimer’s disease will help them understand
        more about the cause and development of the
        disease. It will also help scientists learn when and
        how to start drugs and other treatments so that they
        can be most effective.

21. Which one of the following best states the main idea of the passage?

(A) There are drugs on the market that help people maintain their mental faculties into their late 80s.

(B) Early diagnosis is currently the most important goal in the treatment of Alzheimer’s disease.

(C) Older people often have trouble remembering things.

(D) It is easier to diagnose Alzheimer’s disease today than it used to be.

(E) Current research is still a long way off from the ultimate goals of AD diagnosis.

22. In line 16, the author of the passage uses the word dementia in order to

(A) give an example

(B) dismiss an objection

(C) undermine an argument

(D) codify a system

(E) acknowledge a trait

23. Which one of the following best describes the author’s attitude toward catchall categorizations like senility?

(A) indifference

(B) disapproval

(C) commendation

(D) apathy

(E) befuddlement

24. Which one of the following is suggested as a medical benefit of early diagnosis of Alzheimer’s disease?

(A) It is helpful in dealing with precautionary legal issues.

(B) It serves to make the disease less expensive to treat.

(C) It can help doctors prevent the disease from running its full course.

(D) It may help in slowing the progression of the disease.

(E) It aids in shortening the duration of the disease.

25. The primary purpose of the first paragraph is to

(A) scare the reader into reading the rest of the passage

(B) establish the author’s argument for early diagnosis

(C) explain that good general health will not prevent Alzheimer’s disease

(D) introduce the topic in a personalized manner

(E) propose an action plan for the treatment of Alzheimer’s disease

26. The passage provides inferential support for all the following generalizations about Alzheimer’s disease EXCEPT:

(A) Early diagnosis can make Alzheimer’s disease an easier condition to live with.

(B) Treatment for Alzheimer’s disease can be a financial burden.

(C) Scientists have recently reached an impasse in Alzheimer’s research.

(D) Alzheimer’s disease is currently treatable, though a cure is not yet in sight.

(E) One of the symptoms of Alzheimer’s disease is dementia.

27. The passage contains specific information that provides a definitive answer to which one of the following questions?

(A) What research has done the most to develop new treatments for Alzheimer’s disease?

(B) What is the importance of early diagnosis for Alzheimer’s disease?

(C) What is the greatest threat to an aging man who is still considered healthy?

(D) In what ways can Alzheimer’s disease be successfully treated?

(E) What is the best thing a family can do for one of its members diagnosed with Alzheimer’s disease?
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ANSWERS AND EXPLANATIONS!

SECTION I—LOGICAL REASONING

1. The advertising executive claims that the client’s share of the market will be most increased if a television advertising campaign focuses on the client’s chewing gum product rather than its bubble gum.

Question Type: Conclusion

Correct answer: E. Concluding that the advertising campaign will be less successful if it focuses on bubble gum is the same as concluding that it will be most successful if it focuses on chewing gum.

(A) This is too broad. The argument is only about this particular campaign.

(B) This might be true, but it is not addressed in the argument and is not a goal for the campaign.

(C) This is too extreme. The conclusion is not to ignore bubble gum completely, but to focus on chewing gum.

(D) It is unknown if this is the most important goal of the advertising campaign. All we know is that it is a goal.

2. The advertising executive claims that most people who chew gum prefer chewing gum to bubble gum (or are undecided). Therefore, the executive says, television advertising efforts would have maximum effectiveness if advertisements focused on chewing gum instead of bubble gum.

Question Type: “Weaken”

Correct answer: D. If chewing gum chewers do not watch television, they will not see the advertisements for the client’s chewing gum.

(A) The chewing gum chewers may not be telling the truth, or they might be affected by this particular ad.

(B, C, and E) These statements are irrelevant.

3. The author claims that people no longer are taught to find instant gratification in books and that they therefore turn to other media for instant gratification.

Question Type: Conclusion

Correct answer: C. This statement is the crux of the argument.

(A) The author says that this is possible, but not that it will surely happen.

(B) In the squib, instant gratification is not compared to deeper satisfaction.

(D) The author does not make this claim.

(E) The author does not address the preferences of the publishing industry.

4. The naturalist claims that baby whales bond with their mothers because the babies follow their mothers throughout the ocean. The oceanologist claims that the bond is formed because the mother is the food provider.

Question Type: Controversy

Correct answer: D. The naturalist would disagree with this statement, and the oceanologist would endorse it.

(A) Credentials are not mentioned in the squib.

(B) This claim is not made by either speaker.

(C) Both speakers would agree with this statement, because if the baby did not follow the mother, then the baby would be alone in the middle of a big, dark sea.

(E) Both speakers would agree that there are several alternative theories to explain the bonding process.

5. This is a sufficient-necessary question:

1. Happy Household→Members Dine Together

2. Members Dine Together→(Busy Schedules) or (Sacrifice Time)

3. Busy Schedules→Individual Happiness; Individual Happiness→Busy Schedule

4. Household Happiness→Individual Happiness

Combine 3 and 4 to say: Household Happiness→Individual Happiness→Busy Schedules.

This means that the family members in a happy household must have busy schedules. Therefore, in order to dine together and be happy, they must sacrifice time for one another.

Question Type: Conclusion

Correct answer: D. This statement is the correct answer, as demonstrated above.

(A and B) The opposite is true.

(C) The speaker does not refer to the family members’ pride in their work.

(E) The speaker says nothing about communication.

6. The squib states that the average nonartist in our population is unable to differentiate between great paintings and other art. The squib then states that a person wanting to buy works with large mass appeal would have to spend more money than a person wanting to collect great art.

Question Type: “Resolve”

Correct answer: A. If paintings of great artistic merit do not have mass appeal, they would attract fewer members of the public, most of whom are nonartists, as purchasers. This would allow buyers to spend less on high-quality art when compared to art that is widely valued by the general public.

(B) This statement would not resolve the discrepancy.

(C) This statement would not explain why there are different price levels for high-quality art and mass-appeal art.

(D) Whether or not a painting is offered to the general public does not resolve the discrepancy between cost and artistic merit.

(E) The speaker says nothing about paintings that have neither artistic merit nor mass appeal.

7. The squib claims that presidential addresses are often pivotal moments in history, but the same is not true of senatorial addresses because the plans espoused by the senators are not followed as often as the plans of the president are.

Question Type: “Strengthen”

Correct answer: B. The statement quantifies the fact that presidential plans are far more likely to be ratified than the plans of important senators. This would explain why a president’s address is much more apt to take on historical meaning.

(A) A person’s eloquence is not necessarily related to whether or not his or her plans get ratified.

(C) Actually, it is not counterintuitive to believe this. Some plans get actualized; others don’t.

(D) This statement has nothing to do with whether the speaker’s plans are ratified or not.

(E) This statement does not refer to the relative levels of ratification between senators’ plans and presidents’ plans.

8. This squib states that for a number of reasons, people walking along downtown streets late at night have a high potential for being robbed. Based on these risks, the squib makes an unfounded assumption that people walking along downtown streets at night are more likely to be robbed than people walking anywhere else in the city at night.

Question Type: “Strengthen”

Correct answer: A. This statement validates the conclusion. The only robberies at night would occur downtown.

(B) But robbers may be equally, or even more, likely to rob people in uptown or midtown parts of the city.

(C) This statement is irrelevant.

(D) This statement does not support the conclusion. There may be other parts of the city that have as many burglars as downtown does.

(E) The burglars are not necessarily riding the buses to a robbery.

9. According to the squib, governments that subsist by fostering fear in their citizens often are able to maintain a tighter control over their citizens than other types of governments, and the president is viewed as the equivalent of a monarch. However, presidents of these governments are likely to be in office for shorter periods than real monarchs.

Question Type: “Resolve”

Correct answer: D. The difference in average length of rule between presidents and real monarchs can be explained if monarchs come to power at a younger age than presidents.

(A) Monarchs are also sometimes overthrown.

(B) This statement is irrelevant.

(C) The squib says that elections are not held in tightly controlled societies.

(E) Although this statement may be true, it does not mean that the elections are for the position of monarch, which is not an elective office.

10. This squib is a diagrammed sufficient-necessary problem:

1. Dog in House→Fleas in House

2. People Live in Houses with Fleas→People Get Fleas

3. People live with Fleas→Cat; Cat→People Live with Fleas

We want to conclude that Bill has fleas.

Question Type: Conclusion

Correct answer: A. If it is assumed that Bill has a cat, then number 3 makes us conclude that Bill has fleas.

(B) We are unsure if the dog lives in Bill’s house or in his yard.

(C) Apartments with fleas have different properties than houses with fleas.

(D) We are trying to conclude that Bill does have fleas.

(E) It is immaterial that Bill’s brother has fleas. Bill may not live in the same place.

11. The squib claims that Mount Kilaboo will soon produce a monumental eruption. Based on this idea, the squib claims that the villages located 100 feet beyond last year’s lava flow will have to be evacuated.

Question Type: Conclusion

Correct answer: B. This statement explains why the evacuations will extend an extra 100 feet from last year’s lava flow. It is assumed that the flows of the monumental eruption will extend 100 feet farther than the flows from last year’s eruption.

(A) It is not stated that the monumental eruption will definitely occur this year.

(C) We do not know the comparison between the size of Mount Kilaboo’s eruption and the eruptions of other volcanoes.

(D) The squib does not imply that the entire mountain will explode, nor does it state that such an explosion would make the lava flow extend 100 extra feet.

(E) The opposite is true.

12. The realtor claims that we should all invest in Marlagos beachfront property instead of the stock market. He or she claims that the prices of this real estate have been escalating at a huge rate and there is no reason to expect this trend to stop.

Question Type: “Strengthen”

Correct answer: A. If this statement were true, then properties would probably escalate in value again in the next 10 years.

(B) The bond market is unrelated to claims about real estate.

(C) This statement is irrelevant. It does not say that the price trend will necessarily continue.

(D) If true, this statement would tend to convince you to invest in the stock market, not Marlagos property.

(E) This does not mean that it is better to buy land in general and to buy it on the Marlagos beachfront in particular.

13. This squib claims that the aliens would not benefit by announcing their presence here. The news would alert us to a possible invasion or hinder the aliens’ studies of humans.

Question Type: Conclusion

Correct answer: E. Although it is possible that the aliens might want to befriend us or trade with us, the squib does not mention any other reasons why they have chosen to visit except to plan for an invasion or to study us.

(A and B) These two statements are not assumed. The squib says nothing about the aliens’ technological ability, nor does it include their history of other invasions.

(C) If the aliens were here to study us, it might not be to our benefit to hinder their study. It would depend on what they were going to do with the information they acquired.

(D) Although it is implied that the aliens might want to study us, the squib does not mention that the aliens would actually succeed in getting important information.

14. Exceptional football players exit college with the desire to make money and bring about societal good. The squib claims that Kevin Kennedy would be an exceptional football player if he played football because he entered college with the desire to bring about societal good.

Question Type: “Weaken”

Correct answer: C. If this statement were true, it would mean that, when Kevin left college, he would have lost the desire to bring about societal good. According to the squib, then, he could not be an “exceptional” football player.

(A) The kind of football that Kevin plays is irrelevant.

(B) To “realize their potential” is a different variable than being “exceptional.”

(D) This statement says nothing about their emotions and desire to bring about good.

(E) The information in the squib does not specify when a football player becomes “exceptional.” This statement does not weaken the conclusion.

15. According to the squib, people do not realize that, like grass, plants in general grow more quickly during the summer. People do not notice this because they do not have to take any actions to deal with the growth of plants other than grass.

Question Type: Conclusion

Correct answer: A. Since a juniper bush is a plant other than grass, its summer growth spurts do not require any reciprocal human actions.

(B) The squib says nothing about spring.

(C) Sometimes an increase in light levels can kill plants.

(D) The first sentence says that grass must be mowed about once a month in winter.

(E) The squib says that the factors combine to make plants grow faster. It is not stated what the result would be if only one factor were present.

16. The squib states that photographers sacrifice the broad spectrum of the moments they live in order to capture part of that spectrum infinitely.

Question Type: “Weaken”

Correct answer: D. If photographers can fully enjoy the moment as it occurs, they do not lose any part of the broad spectrum of life just by looking through the camera’s peephole. This statement weakens the squib’s argument.

(A) This statement is irrelevant.

(B) Although they may earn income from their photos, photographers are not necessarily able fully to appreciate the spectrum of life in the moments they photograph.

(C) This does not mean that photographers are able to capture the full spectrum of living motion in moments they photograph.

(E) This statement is irrelevant.

17. This squib notes that there are two possible color outcomes when mixing liquid A and liquid B. Each outcome results when there is more of one liquid than the other. The squib “forgets” that it would be possible to mix equivalent amounts of the liquids.

Question Type: Reasoning strategy

Correct answer: D. We do not know what color will result if equal amounts of A and B are mixed.

(A and B) These are both reasonable assumptions.

(C) The squib does not mention any other liquid added to the mix, so this assumption is not made.

(E) This may or may not be a good assumption, but it is irrelevant. Hiding or not hiding the mixture would not affect the resulting color.

18. The squib describes a situation in which a new format for a product has emerged and the use of the original product format has declined.

Question Type: Analogous reasoning

Correct answer: C. A new serving-size box has debuted, and sales of the original-size box have declined. This is analogous to the squib.

(A) There is no new format developed, nor is there a decrease of use in an original format.

(B) Cost is not an issue in the squib.

(D) There is no new format developed, nor is there a decrease of use in an original format.

(E) This choice is a trap because it mentions libraries and a decrease in book use, but it does not match the reasoning of the squib.

19. The squib claims that the electric guitar is being edged out by other instruments. The conclusion of the squib is that for classic rock to survive, the electric guitar must gain prominence in today’s new music genres.

Question Type: “Weaken”

Correct answer: A. If this statement were true, then even if the electric guitar were never used again in modern music, the popularity of classic rock would not be diminished.

(B) This is irrelevant to what will occur with the electric guitar.

(C) The squib refers to classic rock’s survival, not its extreme popularity.

(D) This statement is irrelevant.

(E) The classical guitar is not the same as the electric guitar, so this statement is irrelevant.

20. The squib cites one explanation of how the ancient Egyptians built their pyramids, but then goes on to examine why that explanation is incorrect. The kites supposedly placed on the rocks would not perform because there is no wind in Egypt.

Question Type: Reasoning strategy

Correct answer: B. The flaw in the reasoning is that it does not consider the possibility that weather conditions might have changed over several thousand years.

(A) This statement does not explain why the squib’s argument is flawed.

(C) However, the people might still have been helped by the wind, even though the squib argues that the kite explanation is impossible. You are looking for the flaw in the squib’s argument.

(D) The opposite claim is implied; according to the squib, the Egyptians could not have used wind to move blocks, so wind was not a necessary condition.

(E) This statement is irrelevant.

21. The anthropologist cites a number of advantages that ants have over humans. Based on these advantages, she or he claims that there will be no way for humans to prevent a species of ant from taking over the world in the future.

Question Type: “Weaken”

Correct answer: C. According to this statement, the ant takeover can be stopped.

(A) Ants still may be able to exert a different kind of global domination from humans.

(B) This statement supports, rather than weakens, the argument.

(D) The dangers of grasshoppers and crickets are immaterial. Ants might still be able to take over the world.

(E) The probability of aliens arriving on Earth seems to be remote, so this statement would not really weaken the passage.

22. First, the squib relates information about smoking and drinking levels and stress levels. Second, the squib introduces information correlating strained interpersonal relationships and drinking. The squib recommends that people lower their stress levels in order to curb familial problems.

Question Type: Reasoning strategy

Correct answer: B. We are not sure whether stress leads to drinking, whether drinking leads to stress, whether strained interpersonal relationships lead to stress, or whether stress leads to strained interpersonal relationships. Causality is completely unaddressed in this squib.

(A) This choice is not a flaw of the squib.

(C) The identification of these implications is a well-fashioned part of the argument, not a flaw.

(D) This is true, but it would not be applicable to the conclusion of the argument. The argument is flawed for not revealing the causal relationship between alcohol, strained familial relationships, and stress.

(E) No causality was inferred about smoking. Also, the sequence of causality is not inferred.

23. This squib states that comedians who use self-deprecating humor have insights into their psyches. However, comedians who do not understand their “inner workings” are unable to use this sort of humor. The speaker assumes that audience members’ ability to enjoy self-deprecating humor is similarly predicated on their insights into their psyches.

Question Type: Reasoning strategy

Correct answer: D. The author assumes that a person needs to understand his or her own psyche both to create and to enjoy self-deprecating humor.

(A) The jokes, not the comedians, are compared to stockpiles of jewels.

(B) The squib implies just the opposite.

(C and E) Neither of these techniques is used.

24. According to the squib, the judgment that someone is a “good” person is based only on that person’s past acts. Since this is the case, the author claims that these past acts bear no implications for how the person will act in the future. This reasoning, of course, is not realistic.

Question Type: Analogous reasoning

Correct answer: C. In this statement, being called a good hitter is analogous to being called a good person in the squib. Like the squib, this statement claims that no predictions can be made about a person’s future performance from his or her previous deeds.

(A) The squib refers to a person’s acts, not his or her position. This statement does not speak about the manager’s acts, but only his or her title.

(B) This statement refers to employment, not a person’s acts.

(D and E) These statements claim that predictions can be made, but the squib states that predictions cannot be made.

25. Robert claims that people have grounds for being surprised when companies turn out to be different from the way they have portrayed themselves.

Question Type: “Strengthen”

Correct answer: D. If the opposite were true, then people would have no reason to be surprised if companies did not perform according to their expectations.

(A) This statement would support Robert’s argument if it replaced “earning” with “losing.”

(B) The squib relates only to the idea that people who lose money have grounds for being surprised.

(C) This statement is unrelated.

(E) CEOs’ feelings are irrelevant to Robert’s argument.

SECTION 2—LOGIC GAMES

Game 1: Linear

Initial Setup:

[image: Image]

From this setup, we can infer that B and A can go in only three positions on the board. After drawing out these three scenarios, we can see that the C and D box can go only in two positions for each position that B and A are in. In all scenarios, the remaining two slots belong to F and E, with F in the lower one. This creates six possible scenarios for the game that we can draw as follow:

1. C B F D A E

2. F B C E A D

3. B F C A E D

4. B C F A D E

5. F C B E D A

6. C F B D E A

Now that you have completely tied down the variables in the game, you can turn to the questions.

1. Correct answer: B. This is the correct answer, as you can see from scenario 6.

2. Correct answer: B. If Fanny starts third, then it places us in either scenario 1 or 4. Looking in these scenarios to see who starts second, we see that either Ben or Chris starts second.

3. Correct answer: D. This is possible in scenarios 1, 5, and 6.

4. Correct answer: A. This is possible in scenarios 2 and 4. Ben’s boat immediately precedes Chris’s in both these scenarios.

5. Correct answer: C. This occurs only in scenario 2. Ben’s boat must immediately precede Chris’s boat.

6. Correct answer: B. This occurs only in scenario 3. But, in fact, Fanny starts three slots before Emily in all scenarios.

Game 2: Mapping

This game shows you the initial setup so you can go right to the questions.

7. Correct answer: D. There is only one way to follow rules 1 and 2:

[image: Image]

Huts in the same row may be connected to one another, so there may be more than just these four roads.

8. Correct answer: C. This sample diagram shows two possibilities in which a line from row to row would cause only one intersection. (The diagrams could also be flipped to apply to towns on the other side of the grid.)

[image: Image]

Two roads must connect to the towns directly across from them. R cannot connect with C because it would cause more than one intersection.

9. Correct answer: A. The following is the diagram that results from this situation:

[image: Image]

S must be connected to D.

10. Correct answer: D. Here is a picture of the scenario. If C did not connect to V, then the game would not be possible.

[image: Image]

11. Correct answer: C. The only possibility is that V connects along the same row to T. The other choices all violate either rule 1 or 2. Here is a picture of the scenario:

[image: Image]

Game 3: Grouping

Initial Setup: This is essentially a two-group game: attend/not attend. The conditions are as follows:

B→E

E→C and A

K→A

D→B

12. Correct answer: A. This does not violate any of the conditions.

(B) If Elba goes, Carolyn and Amee do not.

(C) If Britt goes, Elba goes too.

(D) If Britt goes, Elba goes too.

(E) If Elba goes, Amee does not.

13. Correct answer: C. According to the conditions, if Dean goes, then Britt goes. If Britt goes, then Elba goes. If Elba goes, then Carolyn and Amee do not. If Amee does not go, then Kalee must go, so that is a total of three other members who must attend. If you chose E, you probably counted Dean and Marisa when the question asks how many other members must go.

14. Correct answer: C. According to the conditions, if Kalee does not go, then Amee does. If Amee goes, Elba does not. If Elba does not, then Britt does not. If Britt does not, then Dean does not. Carolyn and Marisa could go, so if they went, that would be a maximum of three people (Amee, Carolyn, Marisa).

15. Correct answer: E. According to the conditions, if Carolyn goes, then Elba does not. If Elba does not, then Britt does not. If Britt does not, then Dean does not. Choices A and D could be true, but this is a “must be true” question.

16. Correct answer: B. Test each choice until you find one that cannot be true. Choice B cannot be true since if Britt goes, then Elba goes and if Elba goes, then Carolyn and Amee do not. If Amee does not attend, then Kalee does. That would be four people attending (Britt, Marisa, Elba, and Kalee).

17. Correct answer: A. Test each choice until you find one that could be true. Choice A works without problems. Each of the other choices violates a condition or deduction made from the conditions

Game 4: Grouping

Initial Setup:

[image: Image]

18. Correct answer: C. F could be in group 2 with A and G.

[image: Image]

(A and B) These could not be true because then B or E would have to share a group with C or D.

(D) G must be in group 2 with A.

19. Correct answer: A. Here is an example of this scenario. (A and G could also be in group 3.)

[image: Image]

F would have to be in group 2 to allow for B and E to avoid C and D.

20. Correct answer: B. B must be in a group with F, to avoid C and D. Notice that BF and CD could go in either group 1 or group 3, as long as the groupings are not changed.

[image: Image]

21. Correct answer: E. G could not be in group 1, because that would force B or E to share a group with C or D.

—A F

—G—

—

22. Correct answer: A. In order to avoid being placed in a group with C or D, B must share group 2 with A and G.

F A C

E G D

B

23. Correct answer: B. There are four different possible scenarios, which can be represented by the following two diagrams:

F A B

C/D G E

D/C

F A C

E/B G D

B/E

24. Correct answer: B. If F cannot go with A, then F cannot go with G either. Since F cannot go with B or E, then F must share a group with either C or D. This forces B and E to go in a group together. F could share group 2 with both C and D or F could share group 1 or 3 with only one of them.

SECTION 3—LOGICAL REASONING

1. All animals that want to go into the park should be leashed. People like Alex who are concerned citizens know and abide by this maxim. Yet, Alex does not leash his dog when they go into the park together.

Question Type: Conclusion

Correct answer: E. We can infer that Alex’s dog dislikes going to the park.

(A) Even if this statement were true, the squib states that animals wanting to go into the park must always be leashed, regardless of who else is there.

(B) This statement does not pertain to the logic of the squib.

(C) Even so, this means that they keep their animals that want to go into the park on a leash.

(D) According to the squib, only those cats that want to go into the park should be leashed.

2. Billy claims that a date who is not cool enough to enjoy a dumb movie is not someone he wishes to hang out with.

Question Type: “Strengthen”

Correct answer: E. If this were not the case, then Billy’s statement would be invalidated.

(A) This statement may or may not be true, but the passage only offers ways to do this. It does not claim that all boys like to do this.

(B) The passage says nothing about what girls think about karate movies.

(C) What most boys are expected to do cannot be determined from the squib.

(D) Assumptions were made only about dumb movies and karate movies. It cannot be inferred that jujitsu is a form of karate based on the syntax of the answer choice.

3. This squib claims:

1. 60 million Americans worked an average of more than 40 hours a week.

2. 55 million Americans found their jobs to be too demanding.

From these facts, the squib draws the conclusion that a small portion of the 60 million people working an average of more than 40 hours a week were satisfied with the demands of their job. This is an invalid conclusion because the groups of the study do not necessarily overlap. The people working more than an average of 40 hours a week could be completely different from those who find their jobs unreasonably demanding.

Question Type: Reasoning strategy

Correct answer: B. An overlap is not specified anywhere in the squib.

(A) Although the squib may do this, it is not really the logical flaw in the specific conclusion drawn.

(C) Such information would be irrelevant.

(D) This answer is not applicable.

(E) Although the premises may not be related to the same groups of Americans, they do not contradict each other.

4. The last sentence seeks to strengthen the conclusion that people should be very selective when choosing their beds. The fact that humans spend half their lives asleep (presumably in bed) would tend to support the idea that people should make a high-quality “bedroom selection.”

Question Type: Reasoning strategy

Correct answer: D. The last sentence is a fact/claim that supports the squib’s conclusion.

(A) The last sentence is definitely not the main point of the passage, which is that people should be selective about their beds.

(B) The last sentence is relevant, but it does not summarize.

(C) The whole argument is not based on this premise.

(E) The last sentence does not clarify the meaning of any other sentence.

5. The professor argues that the prenatal environment is the most important factor in a child’s intelligence. The doctor argues that the neonatal environment is more important than the prenatal environment.

Question Type: Controversy

Correct answer: C. The professor and the doctor are arguing about the relative importance of the neonatal versus the prenatal environment.

(A) Both argue that malnourishment holds negative implications for a child’s intelligence.

(B) Both agree that it is important for children to be adequately nourished in their prenatal environment.

(D) Nothing is mentioned about monitoring these different environments.

(E) The doctor does not contradict the professor’s claim that children will not be able to recover from environmental inadequacies.

6. To put it briefly, this passage makes the claim that music was not very influential in human society before it came to be marketed as a commercial product.

Question Type: “Strengthen”

Correct answer: B. This answer choice essentially restates the conclusion: Society did not fully realize music’s effect before music became a commercial product.

(A) CDs, tapes, 8-track tapes, and phonograph recordings are all commercial products, so this statement is not relevant.

(C and D) Both these statements tend to undermine the conclusion of the squib.

(E) People in other parts of the world might have had such an appreciation.

7. The lobbyist claims that automobile pollution affects only those living in cities, since the CO2 is filtered out of the air before it reaches the countryside. Based on this contention, the lobbyist claims that nothing should be done to curb the bad effects of pollution in the city.

Question Type: “Weaken”

Correct answer: E. The lobbyist’s argument applies only to CO2, not to other pollutants, which might not be absorbed by trees.

(A) According to the lobbyist, the CO2 is filtered out of the air by the time it reaches people living outside the city. So the statement is irrelevant.

(B) The lobbyist’s argument is about polluted air, not environmentally friendly automobiles.

(C) Exhaust fumes from factories, rather than cars, are not an issue here.

(D) Since this statement does not say what the study’s conclusion is, the lobbyist may still be offering a valid argument.

8. This is a sufficient-necessary problem.

1. Basketball Player→Hate Rain

2. Hate Rain→Dislike Cats

You can conclude: Basketball Player→Dislike Cats

You are asked to find the assumption that justifies the conclusion that if you own a cat, you are not a basketball player. This conclusion is diagrammed as follows:

Own Cat→Basketball Player

Question Type: Conclusion

Correct answer: C. Dislike Cats→Own Cat

This could be connected with the former conclusion to state:

Basketball Player→Dislike Cats→Own Cat

(A) We are not assured that all basketball players are tall.

(B) This assumption is nonsensical and does not connect with the given logic chains.

(D) The phrase “some people” does not lead to a conclusion about all basketball players.

(E) We know only that basketball players dislike the rain.

9. The squib claims that Julius Caesar was killed because all Roman citizens hated him. However, the only evidence given to support this idea is the historical documents referring to his death, in which only his friend Brutus and other politicians are mentioned. This is a very limited sample of the population.

Question Type: Reasoning strategy

Correct answer: C. The group that killed Caesar does not represent all Roman citizens.

(A) The killers are samples of the Roman population and not the other way around.

(B) The squib makes no argument for any course of action.

(D) Historical documents are likely to be highly authoritative.

(E) This strategy does not occur in the squib.

10. This squib claims that it is impossible for someone to own something pleasure-inducing and not use it.

Question Type: Analogous reasoning

Correct answer: B. The author of this answer choice makes the same mistake: assuming that Bernie must listen to the CD because if he did, then it would give him great pleasure.

(A and C) Neither of these statements makes mistakes analogous to the squib’s.

(C) This answer choice does not make an analogous mistake.

(D) The mistake here is that tigers’ claws and teeth may not aid them if their habitat changes. Although this statement uses logic similar to the claim in the squib, it is not as good a choice as B because it does not relate to pleasure.

(E) This answer choice is nonsensical in a way that does not mirror the squib.

11. The captain claims that his crew will never return to the Bermuda Triangle. The first mate reminds the captain that they are scheduled to return.

Question Type: Controversy

Correct answer: A. Since the captain is not a member of the crew who will “never return,” the first mate is unsure whether the captain wants to return or not. This is the point at issue.

(B) The first mate is a member of the crew and if he returns to the Triangle, then that would clearly contradict the words of the captain. However, the first mate does not state that he will return.

(C) Both agree that the crew will not return.

(D) They agree that the Triangle holds many dangers.

(E) Only the captain, or first mate speaking for him, can cancel a voyage.

12. This squib talks largely about how music is emotionally evocative and able to produce any emotion in its listeners. Then, tacked on to the end of the squib, is an unsupported sentence claiming that music programs should be given more funding.

Question Type: Reasoning strategy

Correct answer: B. The claim is not supported by the rest of the squib.

(A) Although the final sentence is often a squib’s main point, it is not so here.

(C) This is not true. Even if people agree that music is emotionally evocative, it does not mean they will agree that schools should spend more money on music education.

(D) It is completely unrelated to the argument that precedes it in the squib.

(E) The sentence does not juxtapose anything.

13. This squib claims that, initially, American popular sentiment toward the Revolution was cynical. As the war progressed, however, Americans began to see that an all-out victory would not be necessary. After this epiphany, American sentiment toward the Revolution improved dramatically.

Question Type: Conclusion

Correct answer: E. This is the thrust of the squib.

(A) This is a subsidiary claim but not the main point.

(B) This detail is not stated in the squib.

(C) Although this statement may be true, it was not stated in the squib, nor is it the main point.

(D) Americans hoped that this was true, but the statement is not the main point of the squib.

14. This squib refers to sports gambling. It claims that the common person can never consistently outpredict the statisticians that are hired by bookies. Since this is the case, most people will eventually lose the money that they devote to gambling.

Question Type: Conclusion

Correct answer: E. This conclusion can be drawn because, according to the squib, sports gamblers will inevitably lose their money.

(A) This statement might be true, but we cannot be sure that people would be better served by betting on a card game instead of a sport.

(B) Although the analogy may be tenable, it is not a conclusion that can be made on the basis of the squib.

(C) The statisticians that work for the bookies, not the bookies themselves, are the ones that determine the odds successfully.

(D) The squib does not refer to physical danger.

15. The squib states that popes are chosen based on two criteria:

1. Experience in the faith

2. Being in touch with modern times

The squib goes on to state that these criteria are often mutually exclusive, so the passage recommends satisfying the second and hoping that eventually the pope will also fit the former.

Question Type: Conclusion

Correct answer: A. This conclusion is true because otherwise the journalist would not recommend sacrificing experience in the faith for being in touch with modern times.

(B) This conclusion states the opposite of the conclusion in the squib.

(C) Ambassadors are not mentioned in the squib.

(D) This conclusion is not necessarily the case. There is no more than one pope, but it is likely that multiple people would fit both criteria.

(E) This statement is probably true, but it cannot be concluded from the information in the squib.

16. This squib tells us:

1. Last year, 30% of the bear population was aggressive, but this year 60% is aggressive.

2. Last year there were 12 bear attacks, but this year there have been only 3.

The discrepancy is that bears are more aggressive this year, but there have been fewer attacks.

Question Type: “Resolve”

Correct answer: D. If the bear population in general were lower, then that would explain why there are fewer attacks even though there is more aggression.

(A) This statement is irrelevant to what is going on specifically in the park.

(B) Having the ability to protect oneself during an attack will not prevent an attack.

(C) Fifteen is a number that will probably not be statistically significant.

(E) Even so, bears have been determined to be more aggressive this year than last year.

17. This is a sufficient-necessary question:

1. Westerbrook Operating→Donations from Patrons

2. Donations from Patrons→Good Financial Prospects or Tax Breaks

3. Tax Breaks→Surplus or Negligent Executive

Since there is never a negligent executive, we can say:

4. Tax Breaks→Surplus

Question Type: “Strengthen”

Correct answer: D. If there were no surplus, then there would be no tax breaks. This would mean that the only source of donations for Westerbrook Academy would be from patrons who have good financial prospects.

(A) This is impossible.

(B) This would not be helpful.

(C) This does not change the fact that Westerbrook requires donations from generous patrons to continue operating.

(E) This is not a necessary assumption.

18. This argument claims that political races should be subsidized so that candidates would not owe favors to large companies, would be able to spend more time informing the public of their views, and would compete for office on an equal playing field.

Question Type: “Strengthen”

Correct answer: C. The squib cites this example as one reason that subsidized political races are desirable.

(A) This answer choice is nonsensical.

(B) Propaganda is not contrasted with substantive views in the squib.

(D) This runs counter to the assertion in the squib that political races should be completely subsidized by the government.

(E) The contention of the squib would be undermined if this principle were true.

19. The singer claims that numerous effects are derived from listening to music. The pragmatist claims that not all the effects can be tied to one cause.

Question Type: Controversy

Correct answer: A. The pragmatist does not agree that the entire breadth of effects is caused solely by listening to music.

(B) The singer and pragmatist disagree about music’s responsibility in general, not the responsibility of a particular musical genre.

(C) They do not disagree about this point.

(D) Neither the singer nor the pragmatist argue that music is concrete.

(E) Both speakers might advise people that listening to music has some merit.

20. This squib claims that dung beetles with vivid coloring are more likely to be selected by females for breeding, because the females could see them better than they could see more traditionally colored beetles.

Question Type: “Strengthen”

Correct answer: D. The reason for coloring is pinpointed, and the implication is the one noted in the squib.

(A) If true, this fact would tend to argue against the selection of such dung beetles.

(B) This statement might support the argument, but it would not be as decisive as answer choice D. It says nothing about the color purple, which is the one at issue in the squib.

(C and E) These two statements would point to other explanations besides color for the prevalence of purple dung beetles.

21. This squib claims that all types of luging are very dangerous, but that people have the potential to be hurt more severely during street luging than ice luging because people do not slide as well on asphalt.

Question Type: Conclusion

Correct answer: C. Since there is more potential for injury in street luging than in ice luging, you can conclude that street luging is more dangerous.

(A) Although street luging is more dangerous, there are probably more injuries from ice luging because there are probably far more ice lugers than street lugers.

(B) You cannot conclude anything about bobsledders based on the squib.

(D) Asphalt may not be harder and more abrasive than ice, but it is harder to slide on.

(E) This statement is not supported by the squib.

22. This squib outlines three reasons why movie stars associate with each other.

Question Type: Conclusion

Correct answer: B. This answer is precisely what the squib states.

(A) The squib does not mention any negatives, but there may be some.

(C) This is a detail, not the main point.

(D) This is a detail, not the main point.

(E) Some stars may, indeed, avoid socializing with other stars, but the squib does not state this.

23. The protester argues that our society claims to teach peace, but in reality it is suffused with role models that emphasize aggression.

Question Type: “Weaken”

Correct answer: A. According to this statement, the situation is more complicated than the protester claims. Role models actually are aiming for peace by engaging in a small amount of violence. (So children should not interpret the violent actions they see solely as aggression.)

(B) The protester’s argument is supported, not undermined, by this statement.

(C) This statement does not undermine the argument.

(D) However, these entities probably do have an effect on children who have been born.

(E) This statement does not relate logically to the protester’s argument.

24. This squib mentions two ways that salespeople are paid: by commission or by an hourly rate (or by both). Sam has not sold anything for years, so if he is still getting paid, then he must be getting an hourly salary.

Question Type: Conclusion

Correct answer: D. If Sam were paid commissions, he would not be making any money, since he has made no sales in years. If he is being paid, it must be by an hourly rate.

(A) Sam could be paid by commission as well as by an hourly rate (although he would not have received any commissions recently).

(B) It’s also possible that Sam is a poor salesman, or that the product is good but just not popular right now. You cannot be sure from the information in the squib.

(C) Based on information in the squib, you can’t make any judgments about what Sam should do. Maybe he gets a great hourly rate and does not really have to do any work for it.

(E) This statement is not supported by the information in the squib.

25. This squib claims that because rice outproduces corn in China that corn should be replaced with rice in the United States, despite the fact that the United States has a climate that is different from China’s.

Question Type: “Weaken”

Correct answer: D. Not having climates that can support a rice crop definitely argues against trying to switch an agricultural focus from corn to rice.

(A) This statement might also be true for rice, so it doesn’t weaken the argument.

(B) The squib tells us nothing about whether the United States has many diverse geographic locales or whether some of those locales would be bad for rice.

(C) This statement would tend to support the claims of the squib.

(E) This statement would tend to support the claims of the squib.

SECTION 4—READING COMPREHENSION

1. Correct answer: A. The author uses every paragraph to back up the claim that education in a foreign language is becoming more useful than it used to be. Specifically, the author explains how knowledge of a foreign language is becoming a powerful tool in the workplace.

(B) The reference to the professions in lines 15–20 was made to describe a misconception people had of foreign language study. In addition, this reference is only a minor point made in the passage.

(C) The author makes this point, but it is not the main point of the entire passage.

(D) The author makes this point, but it is not the main point of the entire passage.

(E) Although this statement might be inferred, the author makes no direct claims about wages in the passage.

2. Correct answer: E. This answer paraphrases what is stated in lines 30–32.

(A) The author makes no mention of world travel in the passage. Be careful not to use inferences to answer a question that does not call for them.

(B) While the author states that the growing internationalization of American business is a good reason to study foreign languages, the author does not say that studying languages is the cause of this internationalization.

(C) The author makes no mention of business schools in the passage. Be careful not to use inferences to answer a question that does not call for them.

(D) The author is actually arguing nearly the opposite of this. In lines 12–15, the author is describing an old misconception that should be disregarded in America today.

3. Correct answer: C. The second paragraph starts by describing Americans’ old view of foreign language study as almost a frivolity. The author then goes on to explain that today’s reality is different from these old misconceptions because of changes in the relationship between America and the rest of the world. The paragraph therefore explains how the views should be modernized and why they are no longer true.

(A) There is mention of an influx of foreign capital into the United States in lines 24–25, but the paragraph includes no “how to” about it.

(B) This answer is essentially a summary of the first half of the paragraph.

(D) This answer is essentially a summary of the first half of the paragraph. Notice that this choice does not address the second half of the paragraph, which the author devotes to explaining why.

(E) This statement is an inference from a minor point made in the paragraph; however, it is not the primary purpose of the paragraph.

4. Correct answer: E. The author makes no mention of the time period of this increase. From the essay, though, it seems as if the changes causing this increase (lines 23–29) are long-term changes. So the resulting increase in demand is also likely to be long term. Therefore, the author would disagree with this statement.

(A) This is a relationship drawn in the second paragraph. See lines 23–24.

(B) This statement can be found almost verbatim in lines 32–34, in which the author seems to agree that foreign language study is not a foolproof way to get a first job.

(C) In lines 19–20, the author states that some foreign language students will still need to fill the traditional jobs. These jobs are those that generally require no other technical skills. Therefore, the author would agree with this statement.

(D) This statement is a paraphrase of author’s ideas in lines 46–49.

5. Correct answer: B. The place to look for the answer to this question can clearly be narrowed down to the first part of the second paragraph, in which the author is discussing the old views of foreign language study. Of the choices, this statement best summarizes that section.

(A) This is an inference without any direct support from the passage. There is no claim that lack of foreign language studies held back American business.

(C) This is an inference without any direct support from the passage. There is no mention of European universities in the passage.

(D) This answer, if anything, runs contrary to the suggestions in the passage. The second paragraph is about changes from old times to new, and this statement says exactly the opposite of what is said in the passage.

(E) According to the author, foreign language study was not seen in the past as particularly valuable for improving everyday skills (such as communication).

6. Correct answer: A. Every part of the passage serves to build up the claim that “the whole world does not speak English,” which is why foreign language skills are playing an increasingly important role in the job market. The author’s primary purpose, therefore, must be to call this fact to the readers’ attention.

(B) This is an argument the author does make, but it leaves out a major focus of the passage: business. The author continually connects foreign language study to its growing importance in the job market.

(C) The author is writing about how the job market is growing for foreign language students beyond the bounds of traditional careers for those students (such as translating and teaching). While the author does comment that there is still a need for people to fill jobs in those fields, the passage focuses mostly on using foreign language skills in the business world.

(D) The author writes about one effect of the increasing internationalization of business: a rising number of foreign language students in the business world. However, the author does not even bring up a second topic or opinion. Therefore, this passage was written to argue one specific point, not to debate several points.

(E) This answer can be immediately eliminated because it is not consistent with the tone of the passage, which is clearly not a reflective search for answers. Instead, it is an empirical argument that there is a growing need for foreign language skills in the American job market.

7. Correct answer: B. Both passages discuss SETI and both discuss some difficulties that exist with it. Choice B best expresses this.

(A) Neither passage mentions anything about missions.

(C) Only Passage A performs this function.

(D) Neither passage really addresses this, though both authors seem to believe that there is extraterrestrial life.

(E) Only Passage B performs this function.

8. Correct answer: B. In lines 19–28, the author explains why stars much bigger or much smaller than our own Sun tend to create conditions that are not supportive of life as we know it. In contrast, stars that are similar in size to our Sun are much more likely to support life in their solar systems.

(A) While the author writes about carbon-based life-forms and star sizes in the same paragraph, they are not interrelated other than by the fact that we base simplifying assumptions on both of them. Choice A is not supported in this passage.

(C) This answer is tempting, but the statement the author makes in lines 20–23 does not argue against any life, but only “intelligent life.” Be sure to pay attention to details in tricky options.

(D) In lines 23–29, the author states clearly that planets not close enough to a small star to be tidally locked into orbits with that star are “frozen solid”—and, therefore, not favorable for the presence of life.

(E) The passage does not say that a star probably sustains life just because it could possibly do so. This statement is a false inference from the passage.

9. Correct answer: E. Passage A states that making assumptions is useful to simplify the search (lines 7–8). Choice E is best.

(A) The passage does not state or imply that the search will be endless and fruitless.

(B) This statement, like choice A, is too extreme.

(C) This may be true, but it is not supported by the passage.

(D) The passage states that the assumptions are useful, so there is no support for this statement.

10. Correct answer: A. Passage B is about the difficulties of SETI, specifically the search for radio waves. The author would likely agree with each of the statements, except for choice A. Choice A is contradicted by the passage, which states “it is likely that such a signal would be transmitted on a relatively narrow band.” Do not confuse this with the next line, which mentions a wide range of frequencies.

11. Correct answer: C. Passage A is about the assumptions SETI makes, and Passage B is about some problems SETI encounters. Choice C best captures this.

(A) Passage A is not an overview of SETI.

(B) Passage B does not focus on the necessity of broadening the search for life.

(D) Passage A does not argue for the use of SETI.

(E) Passage B does not contest the uses of the assumptions made in Passage A.

12. Correct answer: D. Passage B does contain a possible way to detect an alien radio signal (a signal that has a regular and complex pulse pattern); therefore choice D is correct.

(A) This view is espoused by Passage A, not Passage B.

(B) Passage B does not contain any such description.

(C) Both passages state this, so it is not “unlike Passage A.”

(E) This is done by Passage A, not Passage B.

13. Correct answer: B. Both passages state that searching the entire sky is difficult, so choice B is correct.

(A) Only Passage B discusses this.

(C) Only Passage A discusses this.

(D) Only Passage B discusses this.

(E) Only Passage A acknowledges this.

14. Correct answer: B. In the first paragraph, the author introduces the problem of health care fraud by describing its effects on society and two general approaches to dealing with it. In the following two paragraphs, the author offers more specific solutions to the problem and discusses their historical effectiveness.

(A) This explanation is very inconsistent with the tone and content of the passage. The focus of the first paragraph is not a generalization, and the rest of the passage does not offer counterexamples.

(C) This explanation is very inconsistent with the tone and content of the passage. The focus of the first paragraph is not an assumption, and the rest of the passage does not test the validity of an assumption.

(D) Choice D is not consistent with the verbal tense used in the passage, which primarily focuses on things that have been done or are being done, not on what is to be, or potentially could be, done.

(E) There is no talk of shortcomings in the Department of Justice or of any “reconstruction efforts.” This is simply not a reasonable choice.

15. Correct answer: D. The author clearly states in the first paragraph: “The impact of health care fraud and abuse cannot be measured in terms of dollars alone. While health care fraud burdens our nation with enormous financial costs, it also threatens the quality of health care” (lines 7–12). The impact is therefore both on the economy and on society.

(A) The author certainly shows that health care fraud is a difficult problem to address but does not imply that it is an unsolvable problem.

(B) Choice B is simply not logically inferable from any details in the passage.

(C) The author references 1998 twice as a good year in the fight against health care fraud. However, nothing is said of the crime rate’s increase or decrease, so although this may be a reasonable assumption given the tone of passage, it is an uncertain assumption. Therefore, this is not the best answer.

(E) The passage starts with “Since 1993, the Department of Justice (‘the Department’) has made fighting fraud and abuse in the health care industry one of its top priorities.” Therefore, the mention of “the 1980s” makes this statement incorrect.

16. Correct answer: A. There is no mention of denial of incidental claims anywhere in the passage.

(B) This point is mentioned in line 19.

(C) This point is mentioned in lines 15–16.

(D) This point is mentioned in lines 33–37.

(E) This point is mentioned in line 18.

17. Correct answer: A. The second and third paragraphs are both used to relate the success of current preventive efforts in the fight against health care fraud. The final paragraph is used to suggest that much is left to be done.

(B) The final paragraph suggests that as health care payment evolves, the Department will face continued challenges and must plan to change accordingly. Therefore, the current efforts of the Department may not be sufficient to halt all health care fraud in the future.

(C) The passage only briefly references HIPAA, and while one can infer that it had a great effect on attacking American health care health fraud, it would be too strong an inference to say that HIPAA has had the greatest effect.

(D) This choice is counterintuitive to the tone and content of the passage. The focus of the second and third paragraphs is on how the efforts have made a difference.

(E) This is not stated anywhere in the passage, nor is it hinted at.

18. Correct answer: E. Especially in the context of line 41, the author is talking about the government’s attempt to get providers to police their own activities against fraud. “Compliance programs” like this are ways for providers to avoid fraud without excessive government intervention.

(A) Given the phrasing in line 18, compliance initiatives are linked with the companies in the health care industry, not patients. This is reaffirmed by the phrasing in line 41.

(B, C, and D) These choices are not supported by the contexts in which the two terms are given. Be sure to pay careful attention to details. Some choices may sound familiar because they use words that were repeated throughout the passage, but be careful to examine each choice critically.

19. Correct answer: B. This point is discussed in the first paragraph. See the explanation for question 15, choice D.

(A) Although the author makes it clear in the first paragraph that health care fraud is a social vice, it would be too extreme an inference to say that it is “without equal.”

(C) Again, the author makes it clear in the first paragraph that health care fraud hurts its victim financially and sometimes physically. However, the author says nothing about the perpetrator being hurt, except when caught.

(D) The word only eliminates this choice. Even in the first paragraph, the author makes the point that there is a plethora of ways to fight health care fraud.

(E) The first paragraph tells us that vigilance is an important weapon for patients who wish to protect themselves. However, it would be too strong an inference to say that vigilance is the most powerful weapon.

20. Correct answer: E. Given the organization of the passage, this is the best answer. There is a presentation of a problem in the introductory paragraph, and the following paragraph starts with the line: “The Department’s enforcement actions have proven results.” Finally, the passage closes with a paragraph about how the Department will continue to deal with fraud in the future.

(A) This point is made in the first paragraph; however, it would be an exaggeration to call it the reason the passage was written.

(B) This is touched on only briefly, so it does not describe the author’s purpose.

(C) The verbal tense used in this option implies that the passage was written to offer prevention plans for the future. However, much of the passage describes things that have already happened and are happening today.

(D) The passage gives the reader a sense that the incidence of health care fraud in America is actually declining. In addition, there is not any internal debate in this passage.

21. Correct answer: B. This passage begins with two introductory paragraphs that give some background about AD. The introductory material leads to an argument for the importance of early diagnosis in order to combat the disease. This argument is the main focus of the passage.

(A) This is a point made in the third paragraph, but it is clearly not the main point of the passage.

(C) This is a subsidiary point of the first paragraph.

(D) This point is made in the second paragraph, but the passage focuses on early, not just any, diagnosis.

(E) This answer is second best. However, scientific research is mentioned only as an afterthought in the final paragraph. Because of its brevity, it is not the main point of the entire passage.

22. Correct answer: E. Dementia is a trait of certain diseases that plague the elderly.

(A) Dementia is not an example; it is a generalization.

(B) There are no objections raised in the paragraph.

(C) Dementia is not used in this context to undermine an argument. Instead, it is a redefinition of an old scientific theory that lumped all diseases characterized by this trait into one general category.

(D) There is no system mentioned in the passage. Although the categorization of diseases could broadly be considered a system, the passage does not discuss the dementia as a way to codify these diseases.

23. Correct answer: B. A major part of the second paragraph strives to elucidate the fact that not all dementia diseases are the same. This paragraph seems to disapprove of the catchall categorization.

(A, C, and D) The author explains that the catchall category is a misconception. Therefore, the author could not be characterized as indifferent, apathetic, or commending.

(E) The author is not befuddled about the catchall category, but rather explains how it was erroneous.

24. Correct answer: D. Of the choices, slowing the progression of the disease is the only medical benefit of early diagnosis mentioned by the author.

(A) Being able to deal with precautionary legal issues is a benefit of early diagnosis, but it is not a medical benefit.

(B) The passage does not mention the expense of treating the disease.

(C) The passage states explicitly that current treatments are unable to prevent the full course of the disease.

(E) The opposite is true: While doctors cannot stop the disease’s progression, they can lengthen it through medicine and give the afflicted more years of cognizant living.

25. Correct answer: D. By starting the passage with this human story, the author introduces the topic in a manner that many readers can identify with.

(A) It would be a gross exaggeration to characterize the first paragraph as a scare tactic.

(B) Although the first paragraph precedes the author’s argument for early diagnosis, it does not do anything to establish that argument. It merely sets the stage for a brief discussion of Alzheimer’s disease.

(C) Neither the first paragraph nor the rest of the passage discusses the effects of good general health (or lack of it) on Alzheimer’s disease.

(E) The passage does not propose any plan for treating Alzheimer’s disease.

26. Correct answer: C. The opposite of this claim can be inferred.

(A) This inference is based on the medical, practical, and scientific benefits of early diagnosis.

(B) You can make this inference based on details in lines 38–42.

(D) This fact is stated explicitly by the passage (lines 34–37).

(E) Since AD was traditionally placed in the catchall category of “senile dementia,” this inference is obvious.

27. Correct answer: B. The entire passage has been constructed to stress the importance of early diagnosis of AD.

(A) This question is not answered by the passage. Research is talked about only in a limited way.

(C) This question is unrelated to the passage.

(D) Even though the passage states that there are treatments for Alzheimer’s disease, it does not discuss any specifics.

(E) Although answers to this question are hinted at in the passage, there is no information regarding the best course of action.

Your LSAT Study Plan

Now that you have taken the Diagnostic Test, you should have a good idea of what lies in store for you on the LSAT. It’s time now to think about how to use McGraw-Hill’s LSAT to make your preparation program the most effective it can be. You may also wish to consider supplementing the materials in this book with additional LSAT preparation materials from Curvebreakers.

The LSAT is above all else a test of your mental stamina. You need to train your mind to be able to work through the test in the time allowed without tiring and making errors, especially when you reach the final sections. That’s why we recommend that you create and follow an intensive, week-by-week training course. Several days each week, you should make sure that you study at least one full LSAT’s worth of material. Only by keeping up this pace you will be able to build the mental stamina you need to get a top LSAT score. That being said, the Curvebreakers LSAT course is more demanding and detailed than other LSAT courses, and you as a student will benefit dramatically from this intensity.

If you have purchased the book-only version of McGraw-Hill’s LSAT, you have enough materials and sample tests for an intensive, five-week preparation program. If you have purchased the book-CD version, you have even more materials to get you ready for the exam. Here is a sample study plan that you can follow or adapt to meet your specific needs. This plan includes four days of intensive study every week. Try to have rest days in between the study days.

Week 1: Logic Games

Day 1: Go back and look carefully at the Diagnostic Test that you just completed. Review the questions that you missed and identify the sections that gave you the most trouble.

Day 2: Turn to Chapter 3 “Logic Games,” and work through the logic games in the Formal Logic, Sequencing, and Linear sections. Answer the questions slowly and make sure that you understand the processes required for each diagramming technique.

Day 3: Work through the logic games in the Complex Linear, Grouping, and Mapping sections of Chapter 3, “Logic Games.”

Day 4: Work through the logic games in the Minimized Variables and Maximized Variables sections of Chapter 3. Review each section. Rework a game of each type in order to ensure that you have learned the appropriate diagramming techniques for each type of game.

Week 2: Logical Reasoning

Day 1: Do the introductory exercises in Chapter 4, “Logical Reasoning.” Work through the Conclusion logical reasoning question type.

Day 2: Work through the questions in the Resolve and Strengthen sections.

Day 3: Work through the questions in the Weaken and Reasoning Strategy sections.

Day 4: Work through the questions in the Analogous Reasoning and Controversy sections.Review the material in the section to make sure that you can accurately identify the question types and the correct way to solve them.

Week 3: Reading Comprehension

Day 1: Do the introductory exercises in Chapter 5, “Reading Comprehension.” Work through the Main Point section, which deals with main point type questions. Be sure to read through the explanations of the answers that you miss and be sure to review your work.

Day 2: Work through the questions in the Author’s/Character’s Opinion and Claims sections.

Day 3: Work through the questions in the Syntax and Inference sections.

Day 4: Work through the questions in the Support/Undermine sections.Review the material in this section to make sure that you can accurately identify the question type and the correct way to solve it.

Week 4: Practice Tests

Day 1: Review the Writing Sample section.

Day 2: Take Practice Test 1.

Day 3: Review Practice Test 1. Look at your results, review your mistakes, and identify the particular question types for each section that you consistently miss.

Day 4: Take Practice Test 2.

Week 5: Practice Tests

Day 1: Review Practice Test 2. Look at your results, review your mistakes, and identify the particular question types for each section that you consistently miss.

Day 2: Take Practice Test 3. Look at your results, review your mistakes, and identify the particular question types for each section that you consistently miss.

Day 3: Take Practice Test 4. Look at your results, review your mistakes, and identify the particular question types for each section that you consistently miss.

IF YOU HAVE PURCHASED THE BOOK-CD VERSION OF McGraw-Hill’s LSAT:

If you have purchased the book-CD version, you can also take the following practice tests on your computer, where you will have the advantage of automatic timing, scoring, and score analysis.

• Practice Test 5

• Practice Test 6

THE WEEK OF THE TEST

Arrange your study program so that you take the LSAT three days after you take your final practice LSAT. You should do nothing related to studying in between the final practice LSAT and the actual LSAT since this will allow your mind to recover from the exertion of your study program. On the two days before the LSAT, go out and have fun with your friends in order to relieve stress, but be sure not to stay up past midnight and do not do anything that is physically or mentally exhausting.
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